ATTACHMENT 13

































Construction Best Management Practices (BMPs)

Construction projects are required to implement year-round stormwater BMPs.

Materials & Waste Management

Non-Hazardous Materials

O Berm and cover stockpiles of sand, dirt or other construction material
with tarps when rain is forecast or when they are not in use.

O Use (but don’t overuse) reclaimed water for dust control.

O Ensure dust control water doesn’t leave site or discharge to storm
drains.

Hazardous Materials

O Label all hazardous materials and hazardous wastes (such as
pesticides, paints, thinners, solvents, fuel, oil, and antifreeze) in
accordance with City, County, State and Federal regulations.

O Store hazardous materials and wastes in water tight containers, store
In appropriate secondary containment, and cover them at the end of
every work day or during wet weather or when rain is forecast.

O Follow manufacturer’s application instructions for hazardous
materials and do not use more than necessary. Do not apply
chemicals outdoors when rain is forecast within 24 hours.

O Arrange for appropriate disposal of all hazardous wastes.

Waste Management

O Cover and maintain dumpsters. Check frequently for leaks. Place
dumpsters under roofs or cover with tarps or plastic sheeting secured
around the outside of the dumpster. A plastic liner is recommended to
prevent leaks. Never clean out a dumpster by hosing it down on the
construction site.

O Place portable toilets away from storm drains. Make sure they are in
good working order. Check frequently for leaks.

[ Dispose of all wastes and demolition debris properly. Recycle
materials and wastes that can be recycled, including solvents, water-
based paints, vehicle fluids, broken asphalt and concrete, wood, and
cleared vegetation.

O Dispose of liquid residues from paints, thinners, solvents, glues, and
cleaning fluids as hazardous waste.

O Keep site free of litter (e.g. lunch items, cigarette butts).

O Prevent litter from uncovered loads by covering loads that are being
transported to and from site.

Construction Entrances and Perimeter

O Establish and maintain effective perimeter controls and stabilize all
construction entrances and exits to sufficiently control erosion and
sediment discharges from site and tracking off site.

O Sweep or vacuum any street tracking immediately and secure
sediment source to prevent further tracking. Never hose down streets
to clean up tracking.

Equipment Management &
Spill Control

Maintenance and Parking

Q

Designate an area of the construction site, well away
from streams or storm drain inlets and fitted with
appropriate BMPs, for auto and equipment parking,
and storage.

Perform major maintenance, repair jobs, and vehicle
and equipment washing off site.

If refueling or vehicle maintenance must be done
onsite, work in a bermed area away from storm drains
and over a drip pan or drop cloths big enough to collect
fluids. Recycle or dispose of fluids as hazardous waste.

If vehicle or equipment cleaning must be done onsite,
clean with water only in a bermed area that will not
allow rinse water to run into gutters, streets, storm
drains, or surface waters.

Do not clean vehicle or equipment onsite using soaps,
solvents, degreasers, or steam cleaning equipment, and
do not use diesel oil to lubricate equipment or parts
onsite.

Spill Prevention and Control

Q

Q

Keep spill cleanup materials (e.g., rags, absorbents and
cat litter) available at the construction site at all times.

Maintain all vehicles and heavy equipment. Inspect
frequently for and repair leaks. Use drip pans to catch
leaks until repairs are made.

Clean up leaks, drips and other spills immediately and
dispose of cleanup materials properly.

Use dry cleanup methods whenever possible
(absorbent materials, cat litter and/or rags).

Sweep up spilled dry materials immediately. Never
attempt to “wash them away” with water, or bury
them.

Clean up spills on dirt areas by digging up and
properly disposing of contaminated soil.

Report significant spills to the appropriate local spill
response agencies immediately. If the spill poses a
significant hazrd to human health and safety, property
or the environment, you must report it to the State
Office of Emergency Services. (800) 852-7550 (24
hours).

Earthmoving

Grading and Earthwork

O Schedule grading and excavation work
during dry weather.

O Stabilize all denuded areas, install and
maintain temporary erosion controls (such
as erosion control fabric or bonded fiber
matrix) until vegetation is established.

L Remove existing vegetation only when
absolutely necessary, plant temporary
vegetation for erosion control on slopes
or where construction is not immediately
planned.

O Prevent sediment from migrating offsite
and protect storm drain inlets, drainage
courses and streams by installing and
maintaining appropriate BMPs (i.e. silt
fences, gravel bags, fiber rolls, temporary
swales, etc.).

O Keep excavated soil on site and transfer it
to dump trucks on site, not in the streets.

Contaminated Soils

Q If any of the following conditions are
observed, test for contamination and
contact the Regional Water Quality
Control Board:

- Unusual soil conditions, discoloration,
or odor.

- Abandoned underground tanks.
- Abandoned wells
- Buried barrels, debris, or trash.

O If the above conditions are observed,
document any signs of potential
contamination and clearly mark them so
they are not distrurbed by construction
activities.

Landscaping

O Protect stockpiled landscaping materials
from wind and rain by storing them under
tarps all year-round.

O Stack bagged material on pallets and
under cover.

[ Discontinue application of any erodible
landscape material within 2 days before a
forecast rain event or during wet weather.

Concrete Management
and Dewatering

Concrete Management

O Store both dry and wet materials under
cover, protected from rainfall and runoff and
away from storm drains or waterways. Store
materials off the ground, on pallets. Protect
dry materials from wind.

O Wash down exposed aggregate concrete
only when the wash water can (1) flow onto
a dirt area; (2) drain onto a bermed surface
from which it can be pumped and disposed
of properly; or (3) block any storm drain
inlets and vacuum washwater from the
gutter. If possible, sweep first.

O Wash out concrete equipment/trucks offsite
or in a designated washout area onsite,
where the water will flow into a temporary
waste pit, and make sure wash water does
not leach into the underlying soil. (See
CASQA Construction BMP Handbook for
properly designed concrete washouts.)

Dewatering

O Discharges of groundwater or captured
runoff from dewatering operations must
be properly managed and disposed. When
possible, send dewatering discharge to
landscaped area or sanitary sewer. If
discharging to the sanitary sewer, call your
local wastewater treatment plant.

O Divert run-on water from offsite away from
all disturbed areas.

O When dewatering, notify and obtain
approval from the local municipality before
discharging water to a street gutter or storm
drain. Filtration or diversion through a basin,
tank, or sediment trap may be required.

O In areas of known or suspected
contamination, call your local agency to
determine whether the ground water must be
tested. Pumped groundwater may need to be
collected and hauled off-site for treatment
and proper disposal.

Paving/Asphalt Work

Paving

O Avoid paving and seal coating in wet
weather or when rain is forecast, to
prevent materials that have not cured
from contacting stormwater runoff.

d Cover storm drain inlets and manholes
when applying seal coat, slurry seal, fog
seal, or similar materials.

O Collect and recycle or properly dispose of
excess abrasive gravel or sand. Do NOT
sweep or wash it into gutters.

Sawcutting & Asphalt/Concrete Removal

O Protect storm drain inlets during saw
cutting.

QO If saw cut slurry enters a catch basin,
clean it up immediately.

O Shovel or vacuum saw cut slurry deposits
and remove from the site. When making
saw cuts, use as little water as possible.
Sweep up, and properly dispose of all
residues.

Storm drain polluters may be liable for fines of up to $10,000 per day!

Painting & Paint Removal

Painting Cleanup and Removal

O Never clean brushes or rinse paint
containers into a street, gutter, storm
drain, or stream.

O For water-based paints, paint out brushes
to the extent possible, and rinse into a
drain that goes to the sanitary sewer.
Never pour paint down a storm drain.

O For oil-based paints, paint out brushes to
the extent possible and clean with thinner
or solvent in a proper container. Filter and
reuse thinners and solvents. Dispose of
excess liquids as hazardous waste.

O Sweep up or collect paint chips and dust
from non-hazardous dry stripping and
sand blasting into plastic drop cloths and
dispose of as trash.

O Chemical paint stripping residue and chips
and dust from marine paints or paints
containing lead, mercury, or tributyltin
must be disposed of as hazardous waste.
Lead based paint removal requires a state-
certified contractor.



GENERAL REQUIREMENTS

1. VERIFICATION: VERIFY ALL DIMENSIONS, ELEVATIONS AND SITE CONDITIONS
BEFORE STARTING WORK. NOTIFY THE ENGINEER IMMEDIATELY OF ANY
DISCREPANCIES.

2. CONFLICTS: NOTES AND DETAILS ON THE DRAWINGS TAKE PRECEDENCE
OVER THE GENERAL NOTES AND TYPICAL DETAILS IN CASE OF CONFLICT.

3. SUBSTITUTIONS: PROVIDE MANUFACTURER'S APPROVED PRODUCT
EVALUATION REPORTS ICC REPORTS AND A LIST OF ALL PROPOSED
SUBSTITUTIONS TO THE ENGINEER FOR REVIEW AND WRITTEN APPROVAL
BEFORE FABRICATION.

4. SIMILAR WORK: WHERE CONSTRUCTION DETAILS ARE NOT SHOWN OR
NOTED FOR ANY PART OF THE WORK, SUCH DETAILS SHALL BE THE SAME AS
FOR SIMILAR WORK SHOWN ON THE DRAWINGS.

5. PIPES, DUCTS, SLEEVES, CHASES, ETC.: SHALL NOT BE PLACED IN SLABS,
BEAMS, OR WALLS UNLESS SPECIFICALLY SHOWN OR NOTED NOR SHALL ANY
STRUCTURAL MEMBER BE CUT FOR PIPES, DUCTS, ETC., UNLESS
SPECIFICALLY SHOWN. OBTAIN PRIOR WRITTEN APPROVAL FOR INSTALLATION
OF ANY ADDITIONAL PIPES, DUCTS, ETC.

6. EXCAVATIONS: LOCATE AND PROTECT UNDERGROUND OR CONCEALED
CONDUIT, PLUMBING OR OTHER UTILITIES WHERE NEW WORK IS BEING
PERFORMED.

7. CONSTRUCTION LOADS: MATERIALS SHALL BE EVENLY DISTRIBUTED IF
PLACED ON FRAMED FLOORS OR ROOFS. LOADS SHALL NOT EXCEED THE
ALLOWABLE LOADING FOR THE SUPPORTING MEMBERS AND THEIR
CONNECTIONS.

8. CONSTRUCTION METHODS AND PROJECT SAFETY: THE CONTRACT
DRAWINGS AND SPECIFICATIONS REPRESENT THE FINISHED STRUCTURE AND
DO NOT |INDICATE METHODS, PROCEDURES OR SEQUENCE OF
CONSTRUCTION. TAKE NECESSARY PRECAUTIONS TO MAINTAIN AND INSURE
THE INTEGRITY OF THE STRUCTURE DURING CONSTRUCTION. NEITHER THE
OWNER NOR ARCHITECT/ENGINEER WILL ENFORCE SAFETY MEASURES OR
REGULATIONS. CONTRACTOR SHALL DESIGN, CONSTRUCT AND MAINTAIN ALL
SAFETY DEVICES, INCLUDING SHORING AND BRACING, AND SHALL BE SOLELY
RESPONSIBLE FOR CONFORMING TO ALL LOCAL, STATE AND FEDERAL SAFETY
AND HEALTH STANDARDS, LAWS AND REGULATIONS.

9. CHANGES TO THE DRAWINGS: OBTAIN PRIOR WRITTEN APPROVAL.

REINFORCED CONCRETE

1. MATERIALS:
CEMENT......coiieee ASTM C-150 TYPE II
AGGREGATE.............. ASTM C-33 STANDARD WEIGHT

REINFORCEMENT......ASTM A-615 GRADE 60 TYPICAL
ANCHOR BOLTS........ ASTM A-307 HOOKED ANCHOR BOLTS
ANCHOR BOLTS........ ASTM A-307 HEADED MACHINE BOLTS
2. CONCRETE STRENGTHS: THE CONCRETE STRENGTHS SHOWN IN THE
FOLLOWING TABLE ARE THE MINIMUM COMPRESSIVE STRENGTHS AT 28
DAYS; AND THE AGGREGATE (AGG) SHOWN IS THE MAXIMUM SIZE. CONCRETE
SHALL BE STANDARD WEIGHT CONCRETE (145 PCF).

ITEM OF STRENGTH AGG SLUMP
CONSTRUCTION (PSI) (IN) (IN)
FOUNDATIONS........ccceeeenne 2,500 1172 4
POUR IN PLACE WALL........ ... 2,500 1172 4
SLABS-ON-GRADE.................. 2,500 1 4
(DESIGN STRENGTH BASED ON 2,500 PSI NO SPECIAL INSPECTION IS
PROVIDED)
EXCEPTION:
A) THE WEIGHT PERCENTAGE OF SULFATE = STRENGTH(PSI)
>1.0 4000
>20 4500

B) SHOTCRETE CONCRETE STRENGTH = 4000 PSI MIN.

3. REINFORCEMENT:
A) DETAILING, FABRICATION AND PLACING: SHALL CONFORM TO AND ACI 318.
B) MINIMUM CONCRETE COVER:

CAST AGAINST & EXPOSED TO EARTH ......cccceuvueee. 3"
EXPOSED TO EARTH OR WEATHER ... 2"

NOT EXPOSED TO WEATHER OR IN CONTACT WITH GROUND:
SLABS, WALLS, JOISTS ..o 3/4"

BEAMS, COLUMNS (TIES, STIRRUPS, SPIRALS)........ 1-1/2"
C) CHAIRS, SPACERS AND SAND PLATES: AS REQUIRED TO MAINTAIN
CONCRETE COVER.
D) VERTICAL REINFORCEMENT: SHALL BE DOWELED TO SUPPORTING
MEMBERS WITH THE SAME SIZE AND SPACING OF REINFORCEMENT AS
SHOWN IN THE DRAWINGS AND GENERAL NOTES.
E) SPACING: CLEAR DISTANCE BETWEEN PARALLEL REINFORCEMENT IN A
LAYER SHALL NOT BE LESS THAN 1-1/2 TIMES THE NOMINAL DIAMETER OF
THE REINFORCEMENT, OR 1-1/3 TIMES MAXIMUM SIZE AGGREGATE, NOR
LESS THAN 1-1/2".
F) TACK WELDING, WELDING, HEATING OR CUTTING OF BARS: NOT
PERMITTED U.O.N.
G) SLAB CORNERS: PROVIDE 2-#4 X 4'-0" AT RE-ENTRANT CORNERS AND
EACH CORNER OF RECTANGULAR HOLES IN SLABS. PLACE BARS
DIAGONALLY.
H) SPLICES (STANDARD LAPS): LAP SPLICE PER DETAIL 1/SD2.0. STAGGER
BOTTOM SPLICES AT LEAST 5-0" FROM SPLICES IN OTHER BOTTOM
REINFORCEMENT. STAGGER SPLICES FOR TOP REINFORCEMENT SIMILARLY.

4. ANCHOR BOLTS, DOWELS AND HOLD DOWN ANCHORS: SECURELY HELD IN
PLACE PRIOR TO FOUNDATION INSPECTION BY THE BUILDING OFFICIAL AND
OBSERVATION BY THE ENGINEER.

5. PIPES, SLEEVES AND DUCTS: NOT TO BE PLACED IN WALLS, BEAMS, SLABS,
FOOTINGS OR COLUMNS UNLESS SPECIFICALLY DETAILED.

6. CHAMFER: 3/4 INCH ON EXPOSED CORNERS.

7. ADMIXTURES: REVIEWED BY THE ENGINEER. CALCIUM CHLORIDE OR ADDED
CHLORIDES ARE NOT PERMITTED.

8. CONSTRUCTION JOINTS: ACI 117.9 & 6.4, 1/4 INCH AMPLITUDE MINIMUM OR
EYED JOINTS PER PLAN. LOCATION OF JOINTS TO BE REVIEWED BY THE
ENGINEER. WAIT 48 HOURS BETWEEN POURS.

9. SLAB-ON-GRADE JOINTS: LOCATION OF ALL CONSTRUCTION, CONTROL AND
WEAKENED PLANE JOINTS NOT SPECIFICALLY INDICATED ON THE DRAWINGS
SHALL BE REVIEWED BY THE ENGINEER PRIOR TO THE PLACING OF
REINFORCEMENT. MAX MUM SPACING 15 FEET ON CENTER.

10. ACTUAL DIMENSIONS: SLAB, WALL, BEAM AND COLUMN DIMENSIONS

SHOWN ARE ACTUAL DIMENSIONS NOT NOMINAL DIMENSIONS (i.e. A4 INCH
SLAB IS 4 INCHES THICK, NOT 3-1/2 INCHES.)

11. CONCRETE CURING: ACI 318

12. VIBRATION: ALL CONCRETE SHALL BE CONSOLIDATED WITH MECHANICAL
VIBRATORS.

ENGINEERED LUMBER

1. LVL - LAMINATED VENEER LUMBER SHALL BE 2.0E MICROLLAM LVL.

2. PSL - PARALLEL STRAND LUMBER SHALL BE 2.0E PARALLAM PSL.

3. LSL - LAMINATED STRAND LUMBER SHALL BE 1.3E TIMBERSTRAND FOR
STUDS, RIM BOARDS AND BLOCKING, 1.55E TIMBERSTRAND FOR JOIST, BEAMS
AND HEADERS.

ENGINEERED LUMBER [-JOISTS

I-JOIST SHALL BE APA PERFORMANCE RATED MANUFACTURED IN CONFORMANCE
WITH PRI-400, PERFORMANCE STANDARD FOR APA EWS. |-JOIST FLANGES TO
HAVE MINIMUM WIDTH OF 1 1/2" 7 MINIMUM THICKNESS OF 1 5/16". WEBS TO BE
PLYWOOD OR OSB WITH MINIMUM THICKNESS OF 3/8". FOR ONE HOUR
CONSTRUCTION, PRI-50 JOISTS ARE REQUIRED AT 24" OC. MAX., SEE ESR-1405.
PROPER STORAGE, HANDLING AND INSTALLATION SHALL BE FOR THESE PLANS
AND MANUFACTURER'S RECOMMENDATIONS.

WOOoD

1. GRADE STAMPED DOUGLAS FIR/LARCH (SEE LUMBER GRADES).

2. NAILS: COMMON WIRE UNLESS OTHERWISE NOTED. EDGE SEE NAILING
NOTE BELOW.

3. THE SPACING CENTER TO CENTER OF NAILS IN THE DIRECTION OF STRESS

4. SHALL NOT BE LESS THAN THE REQUIRED PENETRATION. HOLES FOR NAILS,
WHERE NECESSARY TO PREVENT SPLITTING, SHALL BE BORED TO A IAMETER
SMALLER THAN THAT OF THE NAIL.

5. ANCHOR BOLTS (FOUNDATION ANCHOR BOLTS): PROVIDE 5/8 INCH
DIAMETER ANCHOR OR MACHINE BOLTS WITH A MINIMUM OF 7 INCHES
EMBEDMENT INTO THE CONCRETE AND WITHIN 12 INCHES OF EACH END OF
EACH PLATE. SPACE ANCHORS AT 48 INCHES ON CENTER U.O.N. ANCHORS
SHALL BE LOCATED A MAXIMUM OF 2 INCHES FROM THE FACE OF STUD
RECEIVING WOOD STRUCTURAL PANELS. ANCHOR BOLT HOLES 1/32 TO 1/16
INCH LARGER THAN THE ANCHOR BOLT DIAMETER. HOLES MORE THAN 1/16
INCH LARGER THAN THE ANCHOR BOLT SHALL BE EPOXY FILLED UNDER THE
CONTINUOUS SUPERVISION OF A LICENSED SPECIAL INSPECTOR.

6. BOLTS: NOT LESS THAN 7 BOLT DIAMETERS FROM THE END AND 4
DIAMETERS FROM THE EDGE OF THE MEMBER. BOLT HOLES 1/32 TO 1/16 INCH
LARGER THAN THE BOLT DIAMETER. ALL NUTS SHALL BE TIGHTENED WHEN
INSTALLED AND RE-TIGHTENED AT THE COMPLETION OF WORK OR BEFORE
CLOSING IN. THREAD PROJECTION SHALL BE 1/16 INCH MIN MUM
BEYOND THE NUT. BOLTS IN SPECIFIED SLOTTED HOLES SHALL BE CENTERED
IN THE SLOT UON.

7. LAG SCREW CLEARANCE & LEAD HOLES SHALL BE BORED AS FOLLOWS: THE
CLEARANCE HOLE FOR THE SHANK SHALL HAVE THE SAME DIAMETER AS THE
SHANK, AND THE SAME DEPTH OF PENETRATION AS THE LENGTH OF
UNTHREADED SHANK. THE LEAD HOLE FOR THE THREADED PORTION SHALL
HAVE A DIAMETER EQUAL TO 60% TO 75% OF THE SHANK DIAMETER AND A
LENGTH EQUAL TO AT LEAST THE LENGTH OF THE THREADED PORTION.

8. SQUARE STEEL PLATE WASHERS (PW): ANCHOR BOLTS, BOLTS, LAGS AND
NUTS, NOTED PW, SHALL BE SQUARE STEEL PLATE WASHERS:

BOLTDIAM  THICKNESS SIZE
(IN) (IN) (IN)
12 1/4 3X3
5/8 1/4 3X3
3/4 5/16 3X3
7/8 5/16 3X3
1 3/8 312X34%

9. CUT STEEL WASHERS: FOR BOLTS, LAGS AND NUTS, UON.

10. FRAMING CONNECTORS: PER MANUFACTURER'S APPROVED PRODUCT
EVALUATION REPORTS ICC APPROVED AND INSTALLED ACCORDINGLY. SIZE
AND NUMBER OF NAILS TO BE MAXIMUM SPECIFIED BY THE MANUFACTURER
UON.

11. NAILED/SCREWED HOLD DOWN ANCHORS: INSTALL PER MANUFACTURER'S
APPROVED ICC PRODUCT EVALUATION REPORT. INSTALL HOLD DOWNS 1/2
INCH MINIMUM ABOVE THE PLATE TO ALLOW FOR TIGHTENING ANCHOR BOLT.
THE HOLD DOWN SHALL BE INSTALLED TIGHT TO THE HOLD DOWN POST
WITHOUT FILLERS OR DAPPING. DO NOT BEND HOLD DOWN ANCHORS.

12. BOLTED HOLD DOWN ANCHORS: INSTALL PER MANUFACTURER'S APPROVED
ICC PRODUCT EVALUATION REPORT. INSTALL HOLD DOWNS 1/2 INCH MINIMUM
ABOVE THE PLATE TO ALLOW FOR TIGHTENING ANCHOR BOLT. TIGHTEN HOLD
DOWN ANCHOR BEFORE TIGHTENING POST BOLTS. USE EXTRA CARE IN
BORING THE POST BOLT HOLES (1/32 TO 1/16 LARGER THAN THE BOLT
DIAMETER). THE HOLD DOWN SHALL BE INSTALLED TIGHT TO THE

HOLD DOWN POST WITHOUT FILLERS OR DAPPING. THE POST BOLTS SHALL
NOT BE COUNTERSUNK INTO THE HOLD DOWN POST UON. DO NOT BEND HOLD
DOWN ANCHORS.

13. PRESERVATIVE TREATED WOOD: WOOD EXPOSED TO THE WEATHER,;
FOUNDATION PLATES ON CONCRETE SLABS, FOUNDATIONS WHICH ARE IN
DIRECT CONTACT WITH EARTH SHALL BE TREATED WOOD WITH PRESERVATIVE
RETENTION AS REQUIRED FOR USE. NEWLY EXPOSED SURFACES RESULTING
FROM FIELD CUTTING, BORING OR HANDLING SHALL BE FIELD TREATED IN
ACCORDANCE WITH AWPA M-4.

14. TOP PLATES: TWO PIECES, SAME SIZE AS STUDS, STAGGER SPLICE 4'-0"
MINIMUM. CENTER SPLICES OVER STUDS. SPLICE WITH 12-16d MINIMUM UON.

15. FULL-DEPTH SOLID BLOCKING OR CROSS BRACING: INSTALLED AT
INTERVALS NOT EXCEEDING 8 FEET FOR ALL JOISTS AND RAFTERS 2x12 AND
DEEPER.

16. SOLID BLOCKING: TWO INCH FULL WIDTH BLOCKING (FIRE STOPS) IN
CONCEALED SPACES OF STUD WALLS AND PARTITIONS, INCLUDING FURRED
SPACES, AT THE CEILING AND FLOOR LEVELS AND AT 10-FOOT INTERVALS
BOTH VERTICAL AND HORIZONTAL.

17. CUTTING AND NOTCHING: DO NOT CUT, BORE, COUNTERSINK OR NOTCH
WOOD MEMBERS EXCEPT WHERE SHOWN IN THE DETAILS. HOLES THROUGH
PLATES, STUDS AND DOUBLE PLATES IN WALLS SHALL FOLLOW DETAIL 5/SD1.0,
THE MEMBER WIDTH AND SHALL BE LOCATED IN THE CENTER OF THE MEMBER.

18. PARTITIONS: DOUBLE JOISTS UNDER PARTITIONS PARALLEL TO JOISTS AND
PROVIDE SOLID BLOCKING UNDER PARTITIONS PERPENDICULAR TO JOISTS.

19. END SUPPORT: ROOF AND FLOOR JOISTS OVER 4 INCHES DEEP SHALL HAVE
THEIR ENDS HELD IN POSITION WITH EITHER:

FULL DEPTH SOLID BLOCKING;

NAILED BRIDGING;

NAILING OR BOLTING TO OTHER FRAMING MEMBERS; OR
APPROVED JOIST HANGERS.

20. HOT DIPPED ZINC-COATED GALVANIZING: ALL EXPOSED STEEL TIMBER
HARDWARE, FASTENERS AND CONNECTORS.

21. FASTENERS FOR PRESERVATIVE TREATED WOOD SHALL BE OF HOT DIPPED
ZINC-COATED GALVANIZED STEEL

LUMBER GRADES DOUGLAS FIR/LARCH

COMPLY WITH PS 20, AMERICAN SOFTWOOD LUMBER STANDARD AND STANDARD 7.

GRADING RULES FOR WESTERN LUMBER. 19% MAXIMUM MOISTURE CONTENT AT
TIME OF PLACEMENT.
1. DIMENSION LUMBER: BLOCKING
(2" TO 4" THICK, 2" TO 4" & NONBEARING STUDS WIDE; STANDARD)
(10' MAXIMUM)
2. DIMENSION LUMBER: BEARING
(2" TO 4" THICK, 2" TO 4" STUDS JOISTS & RAFTERS WIDE; NO. 2)
3. DIMENSION LUMBER: JOISTS AND RAFTERS
(2" TO 4" THICK, 5" AND STUDS, BLOCKING, WIDER; NO. 2)
4.  BEAMS AND STRINGERS:
(5" AND THICKER, WIDTH MORE THAN 2" GREATER THAN THICKNESS; NO. 1)
5.  POSTS AND TIMBERS:
(4" AND 6", AND LARGER, WIDTH NOT MORE THAN 2" GREATER THAN THICKNESS;

NAILING
1. ALL NAILING SHALL BE COMMON WIRE NAILS AND FOLLOW THIS TABLE:
_SIZE___DIAMETER ___ WIRE __PENETRATION

PENNY  INCHES GAGE INCHES

8d 0.134 10-1/4 1-5/8

10d 0.148 9 1-7/8

16d 0.165 8 2

20d 0.203 6 2-3/8

PENETRATION IS MEASURED INTO THE PIECE RECEIVING THE NAIL POINT. 1-1/2
INCHES OF PENETRATION FOR 10d AND 16d NAILS IS ACCEPTABLE FOR TOP
PLATES AND DOUBLED 2X MEMBERS. WHERE THE NAIL PENETRATION WILL BE
LESS THAN SPECIFIED, INCREASE NAIL LENGTH (SIZE) TO OBTAIN THE
PENETRATION REQUIRED FOR THE NAIL SPECIFIED.

2. FASTENER SCHEDULE FOR STRUCTURAL MEMBERS - THE CONNECTIONS
LISTED ARE THE MINIMUM PERMISSIBLE. USE COMMON WIRE NAILS FOR ALL
NAILED CONNECTIONS. WHERE POSSIBLE, NAILS DRIVEN PERPENDICULAR TO
THE GRAIN SHALL BE USED INSTEAD OF TOE NAILS. SEE THE DRAWINGS FOR
ADDITIONAL NAILING REQUIREMENTS.

ROOF

1. CL'G. JOIST/RAFTER/TRUSS TO TOP PLATE/OTHER FRAMING BELOW, EACH
END, TOE NAIL ...t s e 3-&d
BLOCKING (NOT AT THE WALL TOP PLATE) TO RAFTER OR TRUSS,EACH END,
LI = S 2-8d
BLOCKING (NOT AT THE WALL TOP PLATE) TO RAFTER OR TRUSS,END NAIL .....
...................................................................................................................................... 2-16d
FLAT BLOCKING TO TRUSS AND WEB FILLER, FACE NAIL ................... 14d @ 6" O.C.

1. CL'G. JOIST TO TOP PLATE, EACH JOIST, TOENAIL.......cccoiiiiiiiiiiieicicee 3-8d

2. CL'G. JOIST LAPS OVER PARTITIONS(NO THRUST),FACE NAIL..................... 3-16d

3. CL'G. JOIST ATTACHED TO PARALLEL RAFTER(HEEL JOINT), FACE NAIL PER
DETAIL

4. COLLARTIE TO RAFTER,FACE NAIL ....ooi s 3-10d
5. RAFTER OR ROOF TRUSS TO TOP PLATE, TOENAIL........cccooiiiiiiiciiieienne 3-10d
6. ROOF FATHERS TO RIDGE VALLEY OR HIP RAFTERS OR RIDGE BOARD,END
INAIL e e s e n e 2-16d
ROOF FATHERS TO RIDGE VALLEY OR HIP RAFTERS OR RIDGE BOARD, TOENAIL
...................................................................................................................................... 3-10d
WALL

1. STUD TO STUD (NOT AT BRACED WALL PANELS),FACE NAIL ........ 16d @24" O.C.
2. STUD TO STUD & ABUTTING STUDS AT INTERSECTING WALL CORNER, FACE

N AL e e s s e e e e e e 16d @16" O.C.
3. BUILT-UP HEADER(2" TO 2" HEADER),EACH EDGE, FACE NAIL....... 16d @16"0.C.
4. CONTINUOUS HEADER TO STUD,TOENAIL ..o 4-8d
5. TOP PLATE TO TOP PLATE,FACE NAIL......ccooiiiiicececeeeeene 16d @16"0.C.
6. TOP PLATE TO TOP PLATE(AT END JOISTS),EACH SIDE OF END JOINT, FACE

INALL e e e s 8-16d
7. BOTTOM PLATE TO JOIST, RIM JOIST, BAND JOIST OR BLOCKING (NOT AT

BRACED WALL PANELS),FACE NAIL.....coooieeceeeeeeee e 16d @16"0.C.
8. BOTTOM PLATE TO JOIST, RIM JOIST, BAND JOIST OR BLOCKING ),FACE NAIL

.................................................................................................................... 2-16d @16"0.C.
9. STUD TO TOP OR BOTTOM PLATE, TOENAIL....coooiiiiiieeeeeeee e 4-8d
10. STUD TO TOP OR BOTTOM PLATE,END NAIL.......oociiiiiiiececeece 2-16d
11. TOP PLATES,LAPS AT CORNERS AND INTERSECTIONS,FACE NAIL............ 2-16d
12. 1" BRACE TO EACH STUD AND PLATE,FACE NAIL.......cccooiiiiiiiicieiceeceee 2-8d
13. 1"x6" SHEATHING TO EACH BEARING,FACE NAIL......ccooiiiiceeceeieeeeceeeene 2-8d
14. 1"x8" AND WIDER SHEATHING TO EACH BEARING,FACE NAIL............cccc........ 3-8d
FLOOR
1. JOIST TO SILL,TOP PLATE OR GIRDER,TOENAIL.......ccoioiiiiiiieenece e 3-8d
2. RIM /BAND JOIST/ BLK'G TO TOP PLATE/SILL/IOTHER FRAMING BELOW,

LI =3 8d @ 6" O.C.

3. 1"X6" SUBFLOOR OR LESS TO EACH JOIST,FACE NAIL........ccocoiiiiiiiiiieee 2-8d
4. 2"SUBFLOOR TO JOIST OR GIRDER,FACE NAIL......cccooiiiiieieee e 2-16d
5. 2"PLANKS(PLANK & BEAM - FLOOR&ROOF),EACH BEATING,FACE NAL.......2-16d
6. BUILT-UP GIRDERS AND BEAM,2" LUMBER LAYERS,FACE NAIL AT TOP AND

BOTTOM STAGGERED ON OPPOSITE SIDES.......cccooiiieeceececeeeee 20d @32" O.C.
BUILT-UP GIRDERS AND BEAM,2" LUMBER LAYERS,EACH SPLICE ,FACE NAIL
................................................................................................................................ 2-20d

7. LEDGER STRIP SUPPORTING JOISTS OR RAFTERS,EACH JOIST OR RAFTER,
FACE NAIL .ttt ettt e e e e s em e e e e e e et e ems e e maesmneeennenn 3-16d
8. JOIST TO BAND JOIST OR RIM JOIST,END NAIL.......cooiiiiieeeeee e 3-16d
9. BRIDGING OR BLOCKING TO JOIST,RAFTER OR TRUSS,EACH END, TOENAIL
....................................................................................................................................... 2-8d

WOOD STRUCTURAL PANELS (PANEL)
1. REFERENCES: PS1, PS2, APA STANDARD PRP-108, NATIONAL EVALUATION
SERVICE REPORT NER-108

2. WALL PANELS.............. OSB OR STRUCTURAL |, 15/32 INCH #
3. ROOF PANELS.............. OSB OR STRUCTURAL |, 15/32 INCH %
4. FLOOR PANELS.........ccccoveunees STURD-I-FLOOR, SANDED 19/32 INCH 20 OC, T&G
(EXTERIOR EXPOSURE AT BALCONIES AND DECKS)
5. BLOCKING:
A) WALLS: ALL UNSUPPORTED PANEL JOINTS SHALL BE BLOCKED SOLID
WITH 3x BLOCKING

B) FLOORS & ROOFS: WHERE NOTED ON THE DRAWINGS, ALL SUPPORT
PANEL JOINTS SHALL BE BLOCKED SOLID WITH 3x4 FLAT BLOCKING.

6. NAILING: COMMON WIRE NAILS. PANEL NAILS SHALL BE DRIVEN SO THAT

THE HEADS ARE FLUSH WITH THE SURFACE OF THE PANEL. FIELD NAILING (FN)

SHALL BE 12 INCHES ON CENTER AND THE MINIMUM PANEL EDGE DISTANCES

SHALL BE MAINTAINED.

MACHINE NAILING: SUBJECT TO A SATISFACTORY JOB SITE
DEMONSTRATION FOR THIS PROJECT AND REVIEW BY THE ENGINEER. THE USE
OF MACHINE NAILING IS SUBJECT TO CONTINUED SATISFACTORY
PERFORMANCE. PANEL NAILS SHALL BE DRIVEN SO THAT THE HEADS ARE
FLUSH WITH THE SURFACE OF THE PANEL AND THE MINIMUM PANEL EDGE
DISTANCES ARE MAINTAINED.

8. GLUED FLOORS: FIELD GLUE TO ALL SUPPORTS AND T&G EDGES PER APA,
AFG-01. FRAMING SHALL BE FREE OF SURFACE MOISTURE & DEBRIS PRIOR TO
GLUING.

9. WOOD STRUCTURAL PANELS (PANELS): WHERE ADJACENT WALLS ARE
PANELED, PANELS SHALL BE INSTALLED OVER AND UNDER OPENINGS.

STRUCTURAL STEEL

1. All structural steel materials and construction shall conform to the requirements specified in Building Code, Chapter 22 & Reference.

2. Steel shall be primed with a rust resistance primer & should conform to ASTM A36 (fy=36 ksi) as a minimum, unless otherwise noted. All W

shapes to be ASTM A992. (fy=50 ksi)

Steel pipe shall conform to ASTM A53, Grade B (Fy=35 ksi).

Round HSS tubing shall conform to ASTM A500 Grade B ( Fy=42 ksi )

Rectangular and square HSS tubing shall conform to ASTM A500, Grade B (Fy=46 ksi).

HP sections shall conform to ASTM A572, Grade 50 (Fy=50 ksi).

All structural welding procedures and materials shall conform to Building Code, Section 2204.1. All welding shall be by the shield metal arc welding

process or the submerged arc welding process using E7OXX-low hydrogen electrodes, unless otherwise noted.

8. All bolts for connections of steel members shall conform to Building Code, Section 2204.2 & ASTM A325N, unless otherwise noted. Holes for bolts
should be drilled or punched & shall be 1/16" larger than bolt diameter.

9. Prefabricated steel moment frames per manufacturer. Steel moment frame manufacturer shall submit shop drawing, design calculations, and
approved moment frame test report (ICC, IAMPO, or test per Appendix S of AISC SEISMIC PROVISION) to E.O.R. for review.

10. All shop welding and fabrication must be done in a shop approved by a special inspection agency which is approved by the Building Official. All
field welding must be performed by a certified welder and a special inspector shall continuously inspect all structural field welding. Both shall be
approved by the Building Official.

CONCRETE MASONRY

No usWw

1. All concrete masonry materials and construction shall be in accordance with Building Code, Chapter 21.

2. All materials making up finished concrete masonry construction shall conform to standards required by Building Code Sec. 2103.

3. Mortar shall be type M or S as applicable and conforming with ASTM C270 and shall be proportioned per Article 2.1 & 2.6A of Specification for
Masonry Structures (TMS 602-13/ACI 530.1-13/ASCE 6-13).

4. Grout shall comply with Article 2.2 & 2.6 of TMS 602-13/ACI 530.1-13/ASCE 6-13 and shall attain a minimum compression streng h at 28 days of
2000 psi or the required compression, fm, whichever is greater. The compressive strength of grout shall be determined in accordance with ASTM
C-1019.

5. Concrete masonry units shall conform to ASTM C90 for load bearing concrete masonry units. Concrete brick shall conform to ASTM C55,

Specifications for Concrete Building Brick.

Grade N concrete bricks are for use as architectural veneer and facing, limited to in exterior walls.

Grade S concrete bricks are for general use where moderate strength and resistance to frost action and moisture penetration is required.

The specified compressive strength of masonry, fm, shall be 2000 psi, unless noted otherwise.

Special inspec ion for concrete masonry construction shall be carried out in accordance with Building Code Section 1704 and requirements in Special

Inspection tables on sheet SN1.0. Masonry compressive strength, fm shall be verified by Unit strength method or Prism test method prior to and

during construction as described in Building Code, Section 2105.

SHOTCRETE

1. STRUCTURAL WET-MIX SHOTCRETE SHALL BE ALLOWED WHEN SPECIFICALLY SHOWN ON THE STRUCTURAL DRAWINGS AND
WHERE THE OWNER, CONTRACTOR AND CONCRETE SUPPLIER COMPLY WITH THESE PROCEDURES, IN ADDITION TO THE
REQUIREMENTS OF THE CALIFORNIA BUILDING CODE (CBC) SECTION 1913.

2. LIMITATIONS:

A) STRUCTURAL WET-MIX SHOTCRETE SHALL NOT BE PLACED WHERE THE STREAM FROM THE NOZZLE CANNOT DIRECTLY IMPINGE
ON THE SURFACE ON WHICH THE SHOTCRETE IS TO BE PLACED. WHERE CONDITIONS PRECLUDE THE POSSIBILITY OF OBTAINING
CORES FROM THE STRUCTURE, THIS METHOD SHALL NOT BE USED.

B) THE MAXIMUM SIZE OF REINFORCEMENT SHALL BE #5 BARS UNLESS IT CAN BE DEMONSTRATED BY PRE-CONSTRUCTION TESTS
THAT ADEQUATE ENCASEMENT OF LARGER BARS WILL BE ACHIEVED.

C) LAP SPLICES OF REINFORCING BARS SHALL UTILIZE NONCONTACT LAP SPLICES UNLESS IT CAN BE DEMONSTRATED BY
PRE-CONSTRUCTION TESTS THAT ADEQUATE ENCASEMENT OF BARS WILL BE ACHIEVED, AND PROVIDED THAT THE SPLICE IS
ORIENTED SO THAT A PLANE THROUGH THE CENTER OF THE LAPPED BARS IS PERPENDICULAR TO THE SURFACE OF THE SHOTCRETE.

D) SHOTCRETE SHRINKAGE SHALL BE LIMITED TO 0.06 PERCENT AT THREE MONTHS AS DETERMINED BY ASTM C157.

E) SHOTCRETE MAY ONLY BE APPLIED TO TIED COLUMNS WHERE THE SPACING OF THE REINFORCING STEEL IS THE SAME AS FOR
WALLS UNLESS IT CAN BE DEMONSTRATED BY PRE-CONSTRUCTION TESTS THAT ADEQUATE ENCASEMENT OF THE BARS USED IN THE
DESIGN CAN BE ACHIEVED
3. INSPECTION

A) SHOTCRETE REQUIRES CONTINUOUS INSPECTION BY A REGISTERED DEPUTY
INSPECTOR.

B) CONTINUOUS INSPECTION SHALL BE PROVIDED FOR THE PLACEMENT OF ALL
REINFORCING STEEL, THE PLACEMENT OF SHOTCRETE AND THE ASSEMBLY,

SHOOTING, TESTING AND DISASSEMBLY OF PRE-CONSTRUCTION TEST PANELS

4. PRE-CONSTRUCTION TEST:

A) TEST PANELS SHALL BE REPRESENTATIVE OF THE PROJECT AND SIMULATE JOB CONDITIONS AS CLOSE AS POSSIBLE. PANEL
THICKNESS AND REINFORCING SHALL REPRODUCE THE THICKEST AND MOST CONGESTED AREA SPECIFIED IN STRUCTURAL DESIGN.
MULTIPLE TEST PANELS MAY BE NECESSARY TO PROVIDE A COMPLETE REPRESENTATION OF THE ACTUAL CONDITIONS WHERE
SHOTCRETE IS TO BE USED.

B) THE TEST PANELS SHALL BE SHOT AT THE SAME ANGLE, USING THE SAME EQUIPMENT AND NOZZLEMAN, AND WITH THE SAME
CONCRETE MIX DESIGN THAT WILL BE USED ON THE PROJECT.

C) THE TEST PANELS SHALL BE CURED, THEN DISASSEMBLED, EXAMINED, SAWED AND/OR CORE DRILLED AT THE DISCRETION OF

THE STRUCTURAL ENGINEER AND NSPECTOR, AND TESTED PRIOR TO COMMENCEMENT OF SHOTCRETE WORK.

D) TEST PANELS SHALL BE A MINIMUM OF 4 FEET SQUARE.

5. MATERIALS:

A) CEMENT SHALL COMPLY WITH ASTM C150, TYPE | OR TYPE Il LOW ALKALI.

B) AGGREGATE HALL BE NORMAL WEIGHT COMPLYING WITH ASTM C33. OMBINED AGGREGATE GRADATION SHALL MEET ACI 506R,
TABLE 1.1, RADATION NO. 2.

C) WATER SHALL BE CLEAN AND POTABLE

D) ADD WATERPROOFING ADMIXTURE PER WATERPROOFING CONSULTANT'S RECOMMENDATIONS AT PERIMETER RETAINING
WALLS.

6. CONDITIONS:

A. FLASH COATS AND FINISH COATS ARE NOT PERMITTED UNLESS FULL DESIGN THICKNESS IS ACHIEVED WITHOUT CONSIDERING THE
FLASH COAT OR FINISH COAT.

B. MINIMUM SLUMP SHALL BE 1 1/2" AND MAXIMUM SLUMP SHALL BE 2 1/2". SLUMP SHALL BE MEASURED AT THE POINT OF DISCHARGE
FROM THE MIXER, EXCEPT THE BUILDING INSPECTOR MAY REQUIRE SLUMP TESTS AT THE DISCHARGE POINT WHERE WATER MAY
HAVE BEEN ADDED.

C. A CAPABLE NOZZLEMAN'S HELPER WITH AN AIR BLOW PIPE SHALL BE PROVIDED TO ASSIST THE NOZZLEMAN IN KEEPING ALL
REBOUND BUILD-UP OUT OF THE WORK.

D. ADDITIONAL WORKERS MAY BE REQUIRED TO TAKE THE REBOUND FROM THE WORK IF THE REBOUND CANNOT BE REMOVED BY THE
AIR BLOW PIPE.

E. NO KEY WAYS OR EMBEDMENTS SHALL BE PLACED IN THE FRONT FACE THAT WILL INTERFERE WITH THE STREAM FROM THE
NOZZLE.

F. THE CONTRACTOR AGREES TO PROVIDE A DESIGNATED LIAISON BETWEEN HIS CREW, THE DEPUTY INSPECTOR AND THE
GOVERNING AGENCY.

G. THE DEPUTY INSPECTOR SHALL BE INTERVIEWED AND APPROVED BY GOVERNING AGENCY PRIOR TO INSPECTING WORK AT THE
JOB SITE. ONE DEPUTY INSPECTOR SHALL BE ASSIGNED TO EACH NOZZLE.

H. RIGID OR OTHER APPROVED BACKING SHALL BE PLACED AGAINST THE EARTH WHERE THERE IS ANY POTENTIAL OF SOIL BEING
DISLODGED IN SUFFICIENT QUANTITY TO DAMAGE THE SHOTCRETE DURING THE APPLICATION OF THE SHOTCRETE. RIGID OR OTHER
APPROVED NON-ORGANIC BACKING SHALL BE USED TO BRIDGE VOIDS IN THE EMBANKMENT.

I.IN THE EVENT THAT A PREVIOUSLY PRESUMED SOLID EMBANKMENT SHOULD SLOUGH OR SHED DIRT IN SUFFICIENT QUANTITY TO
DAMAGE THE CONCRETE, THE WET-MIX SHOTCRETE PLACEMENT WORK IN THAT AREA SHALL CEASE UNTIL RIGID BACKING IS
INSTALLED AND CONTAMINATED SHOTCRETE IS REMOVED.

J. TO REDUCE THE POSSIBILITY OF LAMINATIONS, SECTIONS SHOULD BE GUNNED TO THEIR FULL DESIGN THICKNESS IN ONE LAYER
BY BENCH OR SHELF SHOOTING.

K.  THE HEIGHT OF A LAYER SHALL NOT EXCEED 3 FEET AND SUCCEEDING LAYERS SHALL NOT BE PLACED IN LESS THAN 3 HOURS. NO
SLOUGHING OR SAGGING SHALL BE PERMITTED. WHEN SPECIFICALLY DESIGNED BY THE ENGINEER OF RECORD THAT A SUCCEEDING
LAYER IS TO BE PLACED IN LESS THAN 3 HOURS, A LESSER TIME MAY BE APPROVED BY THE GOVERNING AGENCY.

L. DETAILS OF COLD JOINTS, INCLUDING SLOPE OF JOINTS, SHALL BE SHOWN ON THE APPROVED PLANS. WHEN SHOOTING UP TO THE
UNDERSIDE OF EXISTING CONCRETE, THE LAST 2 INCHES SHALL BE DRY PACKED OR AN APPROVED METHOD OF DRY PNEUMATIC
CONCRETE USED. EXCEPTION: PROVIDED THE DETAIL OF THE JOINT IS SLOPED SO THAT THE CLOSURE OF THE COLD JOINT

MADE WITH STRUCTURAL WET-MIX SHOTCRETE DOES NOT SAG AWAY FROM THE UPPER SURFACE AND PROVIDED BOTH SIDES OF THE

COLD JOINT HAVE TAKEN THEIR INITIAL SET, THE JOINT CLOSURE MAY BE MADE WITH WET-MIX SHOTCRETE.

M. REINFORCING STEEL SHALL BE SECURELY TIED IN PLACE IN A MANNER THAT PREVENTS ANY MOVEMENT DURING THE APPLICATION

© ®©® N

OF THE SHOTCRETE.
N. CONCRETE OR MASONRY TO RECEIVE SHOTCRETE SHALL HAVE THE ENTIRE SURFACE THOROUGHLY CLEANED AND ROUGHENED

AND JUST PRIOR TO RECEIVING SHOTCRETE, SHALL BE THOROUGHLY CLEANED OF ALL DEBRIS, DIRT AND DUST. CONCRETE AND

MASONRY SHALL BE WETTED BEFORE SHOTCRETE IS DEPOSITED, BUT NOT SO WET AS TO OVERCOME SUCTION. SAND USED FOR

SANDBLASTING SHALL BE CLEAN, SHARP AND UNIFORM IN SIZE, WITH NO PARTICLES THAT WILL PASS A 50-MESH SCREEN.

NO.2)
6. HOLD DOWN POSTS: (NO. 2) WALL STUDS TABLE
ABBREVIATION: TRIB WIDTH = 10 FT, ROOF DL= 20, LL= 20, FLOOR DL=15, LL=40
2 AND FTG.  FOOTING
ARCH. ARCHITECTURAL GLB GLU-LAM BEAM MAX. SPACING
BLDG. BUILDING JST JOIST STUD SIZE | STUD HEIGHT
BM.  BEAM M.B. MACHINE BOLT 1 STORY [ LSVESLTOTY EveL [ 5 LEVEL 23 Slgsgl_ T
BOT. BOTTOM MIN. MINIMUM ND ST RD ND ST
CONC. CONCRETE No. or# NUMBER 2X4 10'-0" 16" 0.c.| 16" o.c.| 16" o.c.| 16" 0.c. | 16" O.C. N/A
CONT.  CONTINUOUS O.C.  ONCENTER
BE#'. DETAIL ;,'\EAF ';F,\,',:,EEENCE 2X4 12'=0" 16" 0.c.| 16" 0.Cc. | 12" o.c.| 16" 0.C.| 12" O.C. N/A
DIA.  DIAMETER Q. SQUARE
DAL DMENSION STAGG. STAGGERED 3X4 12'-0" 16" 0.c.| 16" o.c.| 16" o.c.| 16" o.c.| 16" o.c.| 16" O.C.
EE. EACHEND SID. STAEDARD . N " N N N N
EF.  EACHFACE STL. 2X6 12'=0 16" o.c.| 16" o.c.| 16" o.c.| 16" o.c.| 16" 0.c.| 12" o.C.
EL. ELEVATION T.&B. TOP & BOTTOM

o THICK ’ " » ” ” » ” ”
EQN Egﬁi._NA""NG K‘E TYPICAL 2—-2X4 12'=0 16” 0.c.| 16" o.c.| 16" 0.c.| 16" 0.c.| 16" 0.C.| 16" O.C.
SIS HON THERWISE NOTED '—g" " » . . . .
E.W. EACH WAY 2-2X6 12'-0 16" 0.C.| 16" O.C.| 16" O.C.| 16" O.C.| 16" O.C.| 16" O.C.
F.G. FINISH GRADE  VERT. \J\I/EI_?;ICAL
FL.  FLOOR Wo  WITHOUT *LOWER STUDS MUST BE INLINE WMITH UPPER STUDS

SH

EET INDEX

SN1.0 | GENERAL NOTE

S1.0 | FOUNDATION PLAN

S2.0 | FLOOR FRAMING PLAN

S3.0 | ROOF FRAMING PLAN

SD1.0 | FRAMING SECTION DETAIL
SD2.0 | FOUNDATION SECTION DETAIL

CITY/COUNTY STAMP SPACE

PROJECT DESIGN DATA

GOVERNING CODE: 2022 CALIFORNIA BUILDING CODE (CBC).

STRUCTURAL DESIGN LOADS:

1.

1. ROOF LOADS:

DEAD LOAD.......ccieieeeeeeeeieeeeeane 15 PSF

LIVE LOAD ..o 20 PSF
2. CEILING LOADS: (ATTICS WITHOUT STORAGE)

DEAD LOAD.......coiiiieeccieeeeceeeae 5 PSF

LIVE LOAD ... 10 PSF
3. FLOOR LOADS:

DEAD LOAD.......cciiiiiiiiiceceee 15 PSF

LIVE LOAD ... 40 PSF
4. DECK LOADS:

DEAD LOAD.......cciiiiicccicececee 15 PSF

LIVE LOAD ... 60 PSF
WIND DESIGN

WIND SPEED 92 MPH RISK CATEGORY I,
EXPOSURE C, WIND PRESSURE MIN 16 PSF USED
Kh=0.85, Kzt=1, Kd=0.25, I=1

SEISMIC DESIGN

1.

3.
4.

5.

SEISMIC BASE SHEAR FOR LIGHT-FRAME WALLS SHEATHED WITH WOOD
STRUCTURAL SYSTEM = 0.211W (ALLOWABLE STRESS DESIGN)

RISK CATEGORY: Il Sg =2.446 $,=0.894 Cg=0.301

SEISMIC DESIGN CATEGORY: E  Sps=1.957 Sp1=1.013 p =13
FA=12 FV=1.7 R= 6.5 (LIGHT-FRAME WALLS SYSTEM)

FOUNDATION
1.
2.

FOUNDATION MATERIAL: SEE REINFORCED CONCRETE
MINIMUM FOUNDED DEPTH & WIDTH OF FOOTINGS:
BELOW ROUGH PAD GRADE........ccc i 24"

BASE OF FOOTINGS & SLABS: SEE PLAN

ALLOWABLE SOIL PRESSURES:

DL + LL LOAD. ...ttt 1,500 PSF

ALL LOAD (WIND/SEISMIC) FORCES.......cccccooiiiireeeeeene 2,000 PSF

ROOF AND AREA DRAINAGE: SHALL BE DIRECTED AWAY FROM THE
FOUNDATIONS.

BACK FILL: EXCAVATIONS SHALL BE PROPERLY BACKFILLED. BACK FILL FOR
WALLS SHALL BE PERVIOUS MATERIAL. DO NOT PLACE BACK FILL BEHIND
WALLS BEFORE THEY HAVE ATTAINED THEIR DESIGN STRENGTH. SHORE AND
PROTECT WALLS FROM LATERAL LOADS UNTIL THE SUPPORTING MEMBERS
ARE IN PLACE HAVE DEVELOPED SPECIFIED STRENGTHS.

A

_
y

ORANGE
ENGINEERING

4005 CLIPPER CT
FREMONT, CA 94538
TEL (408) 888-7836

SPECIAL INSPECTION REQUIREMENTS

SPECIAL INSPECTION REQUIREMENTS

1.
2.

5

SPECIAL INSPECTION AGENCY EMPLOYED BY THE OWNER.

REPORTS: PREPARED AND SIGNED BY THE INSPECTOR, SUBMITTED TO THE
BUILDING OFFICIAL AND THE ENGINEER. ALL DISCREPANCIES SHALL BE
BROUGHT TO THE IMMEDIATE ATTENTION OF THE CONTRACTOR FOR
CORRECTION; THEN, IF NOT CORRECTED, TO THE BUILDING OFFICIAL AND THE
ENGINEER.

CERTIFICATION: INSPECTOR MUST BE CITY CERTIFIED BY THE BUILDING
OFFICIAL TO PERFORM THE TYPES OF INSPECTIONS SPECIFIED.
RESPONSIBILITY: IT IS THE RESPONSIBILITY OF THE GENERAL CONTRACTOR TO
INFORM THE SPECIAL INSPECTOR OR INSPECTION AGENCY PRIOR TO
PERFORMING ANY WORK THAT REQUIRES SPECIAL INSPECTION.

SPECIAL INSPECTIONS REQUIRED FOR THE FOLLOWING ITEM.:

(A) SHEAR WALLS WITH NAILING 4" SPACING OR LESS
(B) HFX STEEL STRONG WALL

16488 BONNIE LN,

ADU & ADDITION
LOS GATOS, CA 95032

paTE:  08/22/24
JoB No. OES24086

ISSUE & REVISION

mm /dd/yy| CITY SUBMITTAL

—_

OO0 | N[O | W|N

SHEET NAME.

GENERAL
NOTES

SHEET NO.

SN1.0

DRAWN BY:



















BACK TO BACK REINFORCED ANCHORAGE (BB-RA)

Panel Rod 93 RA _ o
Model | Width | Anchorage’ | Dia [Rod“”| |¢* | c P |Ca08(Stirrups®| Shear?
(in) (in) |Grade | (in) | (in) | (in) | (in) Ties
# 3 (min)
HFX-9x | 9 1-1/8-STD-RA STD 8-#4 @
19-3/4 3-3/4" OC
1-1/8-STD-RA STD
HFX-12x 12 9-#4
1-1/8-HS-RA HS
1-1/8-STD-RA STD .
HFX-15x 15 #3 &mln)
1-1/8-HS-RA HS @4"O0C
1-1/8 15 11 | 10-#4
1-1/8-STD-RA STD
HFX-18x 18
1-1/8-HS-RA HS
1-1/8-STD-RA STD 20-5/8
HFX-21x | 21 et 11-#4
1-1/8-HS-RA HS
# 4 (min)
1-1/8-STD-RA STD "
HFX-24x | 24 12-#4 | @4"0OC
1-1/8-HS-RA HS

REINFORCED ANCHORAGE NOMENCLATURE

1-1/8 - STD -RA

‘ \— REINFORCED ANCHORAGE
ROD GRADE
ROD DIAMETER

BB-RA SHEAR TIES & STIRRUPS

Panel Rod 23 BB-RA o
Model | Width Anchorage1 Dia |Rod“”| |4 Ca15 Ca26 Stirrups Shear7
(in) (in) |Grade | (in) | (in) | (in) | (in) Ties
# 3 (min)
HF X-9x 9 1-1/8-STD-BB-RA STD | 15 8-#4 @
— — 19.5/4 3-3/4" OC
1-1/8-STD-BB-RA :
HFX-12x | 12 1344 | #3 ("mln)
1-1/8-HS-BB-RA HS @ 4" OC
1-1/8-STD-BB-RA STD
HFX-15x 15 14 -#4
1-1/8-HS-BB-RA HS
1-1/8 11
1-1/8-STD-BB-RA STD
HFX-18x 18 23 15-#4
1-1/8-HS-BB-RA HS # 4 (min)
20'5/8 4" OC
1-1/8-STD-BB-RA STD @
HFX-21x 21 16 -#4
1-1/8-HS-BB-RA HS
1-1/8-STD-BB-RA STD
HFX-24x | 24 18-#4
1-1/8-HS-BB-RA HS
BACK TO BACK REINFORCED ANCHORAGE NOMENCLATURE
1-1/8 - STD - BB - RA
L REINFORCED ANCHORAGE
"BACK TO BACK" INSTALLATION
ROD GRADE
ROD DIAMETER
Ca2
26" Min 4" = o
Ca2 |
,II,
k— Ca1 J ¥ Min. 2'-6"—
N ‘ 7%" |
le + 1" /@\ lo o)
RADIUS:
L & 9 #3 =%" Min | LENGTH |
g 413" Min_g #4 =1"Min (1A/HFX1)
"RA" SPA 15" Max 2 EQ 3 EQ
(2AIHFX1) A BSPAB A A B SPAB A KEY
iﬂl ==\ { { A =2-1/2" o.c.
ol le ol | o . . B=1-1/4" ea
HFX-9x HFX-12x HFX-15x Side of HD
A BYRB A A B BB A AB &R OB A
I EGEEEE (] |
[ ] [ ] ® o L ] ®
HFX-18x HFX-21x HFX-24x

3A

CURB @ OUTSIDE CORNER

BB-RA SECTIONS & ELEVATIONS

>

FAETLI OMMOUOm

#4 (Min) Longitudinal Rebar
I'I'opBand Bottom by EOR

e - n

le per Table

le + 7"

CL = 10" Min, 12" Max

2'-2" (Min)

. 1" From Top of Concrete

to CL of Shear Tie

1" CL @ Upper Two Ties
Shear Ties per Table
2'-6" (Min) UNO by EOR
Stirrups per Table

Ca1 per Table

1

ISn=n=ussu=ils

INTERIOR SLAB

TR YT T
Pl Py <
| | nmnn
oo |/ |
nmounon [/ |
[ | m n
nmonn |/ |
nmounon [/ |
on g [

oo nmnn
T = ] owonE o
......... Lol Yy 4 __ o ¥ o __ L. Lo
=l ETETEE S
ST =TT = = =

CONTINUOUS FOOTING

UNREINFORCED ANCHORAGE (UA)
UA

Panel

Rod

1 . 2,3 4 5 6 7,8
Model Height Anchorage I?Ia Rod !e Ca1 _&Ca2 Shc?ar
(in) |Grade | (in) (in) Ties
HFX-9x 79.5"-8'
1-1/8-STD-13-19 sTD | 13 19
FX-12x 78" -10'
1-1/8-HS-20-30 HS 20 30 1|o#3
1-1/8-STD-14-20 STD 14 20
HFX-Y{5x, 18x |78"-13'
1-1/8
HFX-15%, 18x ' | 1-1/8-HS-20-30 HS 20 30
Ballc}gc 14'-20 /
1-1/8-STD-14-20 STD 14 20
HFX-21x, 24x |78"-13' /
1-1/8-HS-23-34 23 34/
HFX-21x, 24x . . 2-#3
Ba||00n 14 - 20 1-1 /8'HS'20'30 HS 20 74

UNREINFORCED ANCHORAGE NOMENCLATURE

1\1/8 - STD - 14 - 20

L END & EDGE DISTANCE (Ca1
EMBEDMENT DEPTH (lg)

ROD GRADE

ROD DIAMETER

A

\

\\\‘X

LLL772 777777

Z

—

4
s /////////////////////////// 4 LN 7D #
—

&

2 5" (Min) Over-Lap

(I
22"Min _ At [ : L
|, Ca2
. /’I/ ]
J— Ca l . Min. 2-6"__J
T; QR 135" BEND 2 %" (Min) Over-Lap
. \ RADIUS: | '
#3=%" Min | )
#4 = 1" Min @ O>
L o o RADIUS LENGTH ‘
— (1A/HFXA)
4?9 MInAL
1" Max 2EQ 3EQ
KEY
A B B A A BSPAB A A g SPA B A )
f A A i : ¥ ' | , v |A=3"o.c.
“s ‘l H& sH ’,a a| B =1-1/2" ea
HFX-9x HFX-12x HFX-15x Side of HD
E 4E
A B % BA AB %k BA  ABA ABA.
I REER ] TR ] ] g1 ]
HFX-18x HFX-21x HFX-24x

RA SHEAR TIES & STIRRUPS

2A

!
®
&

CURB (6" MIN) WIDTH

|
1

T T T |

EXTERIOR SLAB

0
i
I

- |

ZH
I
i
i
I

£l =
B=rrv--rr1f
El o

|| Z

CURB @ OUTSIDE CORNER

RA SECTIONS & ELEVATIONS

rReTI @MMOO®W >

#4 (Min) Longitudinal Rebar
Top and Bottom by EOR
12" Min

15" Min

22" Min

CL = 6" Min, 8" Max

1'-10" (Mi

7
. £1" From Top of Concrete

to CL of Shear Tie
1" CL @ Upper Two Ties

Shear Ties per Table
2'-6" Min UNO b?/ EOR
Stirrups per Table

Ca1 per Table

£
=
Booono

= = =TT

CONTINUOUS FOOTING

Uf( SHEAR TIE\§

EDGE VIEW
L LENGTH
RED WHEN
pe Distance

2
HFX-9x 2-3/8"
HFX-12x | 10-1/2" 3-1/2"
HFX-15x | 12" |/ 4-1/4"
HFX-18x | 15" / 5"
HFX-21x | 18" / 9-3/8Y 5-1/2"
HFX-24x | 21" 10-3/8" 6"

S
]

===

)

Ca2 per Table

. Shear Ties per UA Table
. 10" Max or per Plans
. le per Table

.\ £1" from Top of Concrete
to CL of Shear Tie

"CL @ Upper Two Ties
hear Ties per RA Table

en Top of Concrete is

" above Top of Slab

STEM WALL @ OUTSIDE CORNER

== — === —r e
e e L e e T T TE

I

===l F

CURB @ OUTSIDE CORNER

UA SECTIONS & ELEVATIONS

10.

DESIGNS ARE TO RESIST LOADING PER ACI 318-19, SEC 17.10.5.3.
STD INDICATES ANCHORS COMPLYING WITH ASTM F1554 GRADE
36 WITH A HARDY FRAME BOLT BRACE (HFXBB) INSTALLED WITH

STD OR GRADE 8 DOUBLE NUTS ON THE EMBED END.

HS INDICATES ANCHORS COMPLYING WITH ASTM A193 GRADE B7
WITH A 1/2"x3"x3"(MIN) HFPW PLATE WASHER INSTALLED WITH
DOUBLE NUTS ON THE EMBED END (HFXBB NOT REQUIRED).

LE =LENGTH OF EMBEDMENT FROM THE TOP OF FOOTING OR
GRADE BEAM TO THE TOP OF THE HFXBB BOLT BRACE (TOP OF

THE EMBEDDED HFPW PLATE WASHER @ HS ANCHORS)

CA1=DISTANCE FROM HD CENTERLINE TO THE END OF THE
FOOTING OR GRADE BEAM.
CA2 = DISTANCE FROM HD CENTERLINE TO BOTH THE FRONT

AND THE BACK FACE OF THE FOOTING OR GRADE BEAM.

SHEAR TIES ARE GRADE 60 (MIN) REBAR AND REQUIRED FOR
NEAR EDGE DISTANCE CONDITIONS PER ACI 318-19, F'C = 2,500

PSI. CURBS AND STEM WALLS MUST BE 6 INCH (MIN) WIDTH FOR
UA AND RA, 12 INCH (MIN) WIDTH FOR BB-RA.
FOR UA APPLICATIONS, ADDITIONAL TIES MAY BE REQUIRED AT

STEM WALLS. SHEAR TIES ARE NOT REQUIRED FOR

INSTALLATION AWAY FROM EDGE (SEE DETAIL 1A), INSTALLATION

ON WOOD FRAMING, OR FOR IRC BRACED WALL PANEL

APPLICATIONS.
STIRRUPS ARE GRADE 60 (MIN) REBAR. SEE TABLE FOR SIZE AND
SPACING. SEE “STIRRUP LAYOUT” DIAGRAMS AND “KEY" FOR

LAYOUT PATTERNS.

CONCRETE EDGE DISTANCES MUST COMPLY WITH ACI 318-19,
SECTION 17.9.2. COATED REINFORCEMENT MAY BE SPECIFIED BY

THE EOR TO LIMIT EXPOSURE AND THEREFORE REDUCE

MINIMUM CONCRETE COVER. COATED REINFORCEMENT MUST
COMPLY WITH ACI 318-19, SECTION 20.5.2.

¥

®

®

®

¥

1

1

0
:

0
:

2-3/4" FOR
PANEL ON
TOP OF CONCRETE CONCRETE
Model |Width| A
HFX-9x 9" 1.3 |51 /2"
HFX-12x 12" 8-1/2"
HFX-15x 15" 9-3/4"
HFX-18x | 18" | , ggn | 12-3/4"
HFX-21x 21" 15-3/4"
HFX-24x 24" 18-3/4"
HFX ANCHOR CENTERLINES @
IMPORTANT!

ANCHORAGE IS DESIGNED FOR TENSION AND
SHEAR TRANSFER ONLY, FOUNDATION DESIGN

PER EOR.

REINFORCEMENT SHOWN IS THE MINIMUM
REQUIREMENT AND IS NOT INTENDED TO

REPLACE REINFORCEMENT DESIGNED BY THE

EOR.

FOR RA AND BB-RA INSTALLATIONS, THE

HFXBB BOLT BRACE MAY BE PLACED ON TOP

OF THE STIRRUPS WITH DOUBLE-NUTS
INSTALLED AT EMBED END OF STANDARD

GRADE ANCHOR RODS. (NOTE: )" x 3" x 3" MIN.
HFPW PLATE WASHERS ARE REQUIRED TO BE

DOUBLE-NUTTED AT EMBED END OF HIGH

STRENGTH ANCHOR RODS.)

HIGH STRENGTH ALL-THREAD RODS PROVIDED
BY HARDY FRAMES ARE STAMPED ON BOTH

ENDS.

IMPORTANT NOTES

REVISIONS| DATE

THIS DETAIL SHEET IS NOT PROPRIETARY AND IS NOT REQUIRED
FOR PLAN SUBMITTAL WITH HARDY FRAME PRODUCTS

ANCHORAGE DETAILS - HFX PANELS

o)
=
LLl
'—
N
>
n
0
<t =
;u_]o o
xO®8 O
<t O L
UJEO =
T = =
wn > _- o
w o
w5 50 %
S0~ X
SZL ST
LL§$L5><
>N L
Qo wv
28dss
T2OoX=

Milek

DATE:
1-1-2023

HF X1




Y
" g
" ~
,,,,,,,,,,,,,,,,
<

\\\\\\\\\\\\\\\\

v

CAVITY ORIENTED FOR CONNECTION ACCESS.
NUTS AND WASHERS PER TABLE NOTE 1.
NOMINAL 8 INCH FRAMING ABOVE (MIN).

pOOMNS

A 2x FILLER WITH 1/4" x 4-1/2" MINIMUM
WS SCREWS IS PERMITTED.

A\OZRANN A
ANNASNN A

5. FIELD INSTALLED WOOD BACKING AS NEEDED. h .4 e 41%

BACK TO BACK INSTALLATION

ALTERNATE: /—@

NI AT ) JAN
S
EE;;:: "’::::j::;:/jj, ik /’//l:::::j// ,/’//:::: //‘Q~;;;

, N

\ N

N O N

N >

N N

A\ N

N N

N N

N ::;:é“ ”;;:;>

AY

In -

&

WOOD FILLER (13 3" MAX DEPTH) WITH USP MP4F CONNECTORS BOTH SIDES,
QUANTITY BY BUILDING DESIGN PROFESSIONAL.

—
.

i | &

OTN

%

STEEL BEAM PER PLANS

vA

2. ALL THREAD RODS THRU-BOLTED TO STEEL BEAM BY BUILDING
DESIGN PROFESSIONAL.

W

NUTS AND WASHERS PER TABLE NOTE 1.
HARDY FRAME® STACKING WASHERS (HFSW) REQUIRED TO BE

WELDED INSIDE TOP CHANNEL OF LOWER PANEL.
5. HARDY FRAME""STK" PANEL WITH STACKING WASHERS WELDED
INSIDE THE TOP CHANNEL BY MANUFACTURER.

STEEL BEAM ABOVE THRU-BOLT (2)

NOTE:

ATTACHMENTS TO ADJACENT
TRIMMERS MAY BE MADE AT
PREPUNCHED SCREW HOLES OR
WITH SELF TAPPING SCREWS
(#12 AT EDGES, #10 AT FACE).

NN NN

O

AN

111111111

/////////////

/////////////

@A

SECTION B

SECTION A

1.  TRIMMERS PROVIDE FULL BEARING FOR HEADER ABOVE, DESIGN AND
CONNECTIONS BY BUILDING DESIGN PROFESSIONAL.

6x HEADER.

@N

IN THE PANEL CAVITY AS NEEDED.

4. WOOD MEMBER FLUSH TO FACE OF WALL FOR BACKING AS NEEDED.

6x HEADER ABOVE-SECTIONS (1)

WOOD MEMBERS FOR BACKING MAY BE INSERTED VERTICALLY OR HORIZONTALLY

HFX PANELS 78 IN. THROUGH NOMINAL 13 FEET
Net Hold Down|  Top Screw Qty
NMOdt?I Height | Depth | Diameter | Screw Qty? |Available at

umber (in) (in) (in) (ea) Edges (ea)

HFX-12,15,18,21 & 24x78| 78 o" Width = 5

HFX-9x79.5 79-1/2

HFX-12,15,18,21 & 24x8 | 92-1/4 12" Width =6 4

HFX-9x8 93-34 | 342 | 1-4/8 |15 Width =8

HFX-12,15,18,21 & 24x9 [104-1/4

HFX-12,15,18,21 & 24x10 |116-1/4 18" Width = 10 5

HFX-15,18,21 & 24x11  [128-1/4 21" Width = 12

HFX-15,18,21 & 24x12  [140-1/4 _ ]

HFX-15,18,21 & 24x13  |152-1/4 24" Width = 14

BALLOON PANELS 14 FEET THROUGH 20 FEET

Net Hold Dowr Top Screw Qty
Model Height | Depth | Diameter? Screw Qty? | Available af
Number (in) | (@n) | (in) (ea) Edges (ea)
HFX-15,18,21 & 24x14 | 164-1/4 15" Width = 8
HFX-15,18,21 & 24x15 | 176-1/4 6
HFX-15,18,21 & 24x16 | 188-1/4 18" Width = 10
HFX-15,18,21 & 24x17 | 200-1/4| 3-1/2 | 1-1/8 -
HFX-15,18,21 & 24x18 | 212-1/4 21" Width = 12
HFX-15,18,21 & 24x19 | 224-1/4 | .
HFX-15,18,21 & 24x20 | 236-1/4 24" Width = 14

TABLE NOTES

__{’U__

I
5
]

\s

® @7

I
5
T

/[

|
5
]

O

NG

Ny

2. 1/4"x 3" (MINIMUM) WS SCREWS, QUANTITY PER TABLES
3. ADJACENT FRAMING WITH 1/4" DIAMETER SCREWS INSTALLED THROUGH
PRE-PUNCHED HOLES IN PANEL EDGES REQ'D WHEN INSTALLING A FILLER
GREATER THAN 1-1/2" ABOVE TO BRACE OUT-OF-PLANE HINGE OR WHEN SPECIFIED
BY THE DESIGN PROFESSIONAL. A
4. MiTek HFFB FILLER BRACE WITH 1/4" x 1-1/2" WS SCREWS TO FILLER (FILL ALL 12 1§4.. . 2_1(/“5.'.'\(','\2’,%%)UV$ VSVCS:'ZECV;SE’V\(,)SU%NJAR;,';ERPEA&B}‘EE?LES
HOLES) AND 1/4" SELF-TAPPING SCREWS TO PANEL (5 MIN. EACH FACE) REQD 3 2% WOOD FILLER ’
WHEN INSTALLING A FILLER GREATER THAN 3-1/4" ABOVE TO BRACE OUT-OF-PLANE | '
HINGE OR WHEN SPECIFIED BY THE BUILDING DESIGN PROFESSIONAL. @ @
N v ] g
[((4 / [((4
1 / O
: Ly S CE—-
A ._’.~:A..m £a -0 E 4.'~' R
P ——| S S0 | PPREERY ST RS
S LR T e e Sl e e g e
. " L . - o b Y Hae ' . e - . A 4A'A:~ i _4 E A.. ‘A,d .
. Do a r\} A - H ; . 2 . = ’\J s aH . .
1, 15# FELT OR EQUIVALENT MOISTURE BARRIER RECOMMENDED BETWEEN
PANEL BASE AND CONCRETE.
2. NUTS AND WASHERS PER TABLE NOTE 1. 1. 15# FELT OR EQUIVALENT MOISTURE BARRIER RECOMMENDED BETWEEN
3. ADJACENT FRAMING WITH 1/4" DIAMETER SCREWS INSTALLED AT THE PANEL BASE AND CONCRETE.
PANEL EDGES WHEN INSTALLING A FILLER GREATER THAN 1-1/2" ABOVE OR 2 NUTS AND WASHERS PER TABLE NOTE 1.

WHEN SPECIFIED BY DESIGN PROFESSIONAL.

NOTE:

TO PREVENT DRILLING ADDITIONAL HOLES ORIENT THE PANEL CAVITY

TOWARD THE FIXTURE BEING INSTALLED.

=(3)

oyas A
i 7
NN N
4 § 1N |oPTIONAL
N ;;s SOFFIT
N AN
\E
N LR N
N 37 \TRIMMERS PER
@ N \DESIGN PROFESSIONAL
+—Ft 4_”4\
4 4

1. (A) PRE-WELDED STRAPS ARE PROVIDED ON 78" AND 79-1/2" PANEL HEIGHTS.
THEY ARE AVAILABLE FOR OTHER HEIGHTS UPON REQUEST.
(B) FIELD INSTALLED STRAPS WITH SELF TAPPING SCREWS ARE PERMITTED.
THE DESIGN AND CONNECTION IS BY THE DESIGN PROFESSIONAL.

ol

BUILDING DESIGN PROFESSIONAL.
4. A 1"DIA. HOLE MAY BE ADDED IN THE PANEL FACE WHEN IT IS LOCATED IN
THE UPPER HALF OF THE PANEL HEIGHT AND IS 4" MINIMUM FROM ANY
EDGE. FOR PANELS MORE THAN 12" WIDE, ADDITIONAL HOLES MUST BE
OFFSET 1" MINIMUM FROM THE 3" DIA. PREPUNCHED HOLE. FOR HOLES
LARGER THAN 1" DIAMETER OR TO ADD MORE THAN ONE HOLE CONTACT
MITEK HARDY FRAME TECHNICAL SUPPORT AT (800) 754-3030.

TOP CONNECTION TO HEADER

A 2x WOOD FILLER WITH 1/4"x4-1/2" (MIN.) WS SCREWS IS PERMITTED.
WHEN CRIPPLE STUDS OCCUR, SHEAR TRANSFER DESIGN TO BE PER THE

1.

FOR STD OR HS GRADE HOLD DOWN ANCHOR BOLTS CONNECT TO THE
PANEL BASE WITH HARDENED ROUND WASHERS BELOW GRADE 8 NUTS.
ALTERNATE WASHERS ARE (2 EA) ROUND-FLAT OR (2 EA) SAE WASHERS
ON EACH BOLT. ALTERNATE NUTS ARE 2H HEAVY HEX.
1/4" DIAMETER MITEK®PRO SERIES™ WS SCREWS. LENGTH IS 3" (MINIMUM)
WHEN ATTACHED DIRECTLY TO THE COLLECTOR AND 4-1/2" (MINIMUM)
WHEN INSTALLING A 2x FILLER ABOVE THE PANEL.
ADJACENT FRAMING WITH 1/4" DIAMETER SCREWS IS REQUIRED AT THE

PANEL EDGES WHEN INSTALLING A FILLER ABOVE THE TOP CHANNEL
THAT IS GREATER THAN 1-1/2" OR WHEN SPECIFIED BY THE DESIGN

PROFESSIONAL.

A

REVISIONS| DATE

INSTALLATION INSTRUCTIONS

1.

WHEN INSTALLING ON CONCRETE CONNECT WITH (1 EA) HARDENED ROUND
WASHER BELOW (1 EA) GRADE 8 NUT, SECURE WITH A DEEP SOCKET
(RECOMMENDED) UNTIL SNUG TIGHT. ALTERNATE WASHERS AND NUTS
ARE PROVIDED IN TABLE NOTE 1.
INSTALLATION ON CONCRETE PROVIDES THE HIGHEST ALLOWABLE
VALUES. CONFIRM WITH THE DESIGN PROFESSIONAL BEFORE INSTALLING
ON OTHER SUPPORTING SURFACES.
USE 1/4"X4-1/2" MITEK® PRO SERIES" WS SCREWS AT TOP CONNECTIONS
WITH A 2x FILLER. IF THE TOP OF PANEL IS IN DIRECT CONTACT WITH THE
COLLECTOR ABOVE (TOP PLATES, HEADER, BEAM, ETC.) USE1/4 x 3" (MIN)
FOR INSTALLATIONS WITH A FILLER GREATER THAN 1-1/2" ABOVE, OR WHEN
SPECIFIED BY THE DESIGN PROFESSIONAL, ADJACENT KING POSTS TO

BRACE THE OUT-OF-PLANE HINGE CAN BE CONNECTED WITH 1/4" DIA.

SCREWS THROUGH PRE-PUNCHED HOLES AT THE PANEL EDGES.

FRAMING DETAILS - HFX PANELS

THIS DETAIL SHEET IS NOT PROPRIETARY AND IS NOT REQUIRED
FOR PLAN SUBMITTAL WITH MITEK°HARDY FRAME® PRODUCTS

RAISED FLOOR HEAD-OUT

O

([ L L L L LA

. 4

| b\’éa

;{\i\\\\\\\\\ T
>3
-3
a
{)\\\\\\\{i\\\\\ T
a

T

>
g

AL LR AR
a

o

a

ALLOWABLE VALUES ON 2x PLATE ARE LESS THAN INSTALLATION ON CONCRETE

1.

2.

15# FELT OR EQUIVALENT MOISTURE BARRIER RECOMMENDED
BETWEEN PANEL BASE AND TREATED PLATE.
NUTS AND WASHERS PER TABLE NOTE 1.

INSTALLATION ON 2x PLATE

1

ALLOWABLE VALUES ON N&W A
1.

2.

INSTALLATION ON NUTS & WASHERS 10

INSTALLATION ON CONCRETE (7

a2

E;«

e A
WA TETRTINNY
oAy

T

V.

[NARARANRRAAY
>

P

LR LA

LA 4

N, .
RE LESS THAN

INSTALLATION ON CONCRETE

PLUS OR MINUS 1-1/2" GAP TO BE FILLED WITH 5,000 PSI NON-SHRINK
GROUT (MINIMUM).
NUT AND WASHER GRADES PER TABLE NOTE 1.

N O R
N

N N
N N

A\ :

N N
\\E—

: 44"-!
- - "_

1

‘W77 777

SN NN NN

I et T
a’ e A
) A
> . '

OPTIONAL INSTALLATION

HARDY FRAME BASE

EXTENSION (HFBX) FOR

ADJACENT FRAMING

HFBX
WITH

1. 15# FELT OR EQUIVALENT MOISTURE BARRIER RECOMMENDED BETWEEN

PANEL BASE AND CONCRETE.

@ N

NUTS AND WASHERS PER TABLE NOTE 1.
ADJACENT FRAMING OPTIONAL U.N.O. BY BUILDING DESIGN PROFESSIONAL.

INSTALLATION ON CURB

9)

#12 SELF-TAPPING SCREWS
AT EDGE OF PANEL.

(BUGLE HEAD WITH SELF
DRILLING WING TIP SHOWN) |-

[P

NOTES:
SURFACE FINISHES, CONNECTORS AND FIXTURES ARE ATTACHED TO THE PANEL
FACE WITH # 10 SELF-TAPPING SCREWS SPACED NO LESS THAN 2-1/4" OC.
ATTACHMENTS TO THE PANEL EDGES ARE MADE WITH # 12 SELF-TAPPING SCREWS.
STRUCTURAL CONNECTIONS ARE TO BE DESIGNED BY THE DESIGN PROFESSIONAL.
STRUCTURAL HARDWARE USED TO TRANSFER LOADS SHOULD NOT EXCEED 12

A.

OOw

GAUGE.

D

AN

SELF DRILLING TIP

PRI

g2 0 NG
9" PANEL 12" PANEL 15" PANEL

e O O teieteteieiel O 0 vrvrrsr 0
18" PANEL 21" PANEL 24" PANEL

PANCAKE FIXTURE —

AS NEEDED | O —

T #10 SELF-TAPPING SCREWS
°] . L AT FACE OF PANEL.
& (HEX HEAD WITH SELF

DRILLING TIP SHOWN)

— #10 SELF-TAPPING SCREWS
AT FACE OF PANEL.
(BUGLE HEAD WITH SELF
DRILLING TIP SHOWN)

s

BUGLE HEAD WAFER HEAD FLAT TRUSS MODIFIED TRUSS HEX HEAD
AR -

SELF DRILLING WING TIP

D

HARDY FRAME SHEAR WALL SYSTEMS
16023 SWINGLEY RIDGE RD
CHESTERFIELD, MO 63017

(800) 325-8075
WWW.HARDYFRAME.COM

Milek

DATE:
1-1-2023

HF X2




REVISIONS| DATE

FLOOR SYSTEM DETAILS - HFX PANELS

THIS DETAIL SHEET IS NOT PROPRIETARY AND IS NOT REQUIRED
FOR PLAN SUBMITTAL WITH MITEK®HARDY FRAME® PRODUCTS

NOTES: NOTE: NOTES: :
INSTALLATION WITHOUT HARDY FRAME® BEARING | COUPLERS MAY BE USED WHEN THREADED ROD IS A. CHECK WALL HEIGHT, HARDY FRAME® BEARING Net Hold Down _ Screw Quantity Screw Qty*
PLATE (HFXBP) MAY INCREASE DEFLECTIONAND | SUBJECT TO TENSION LOADS ONLY. PLATES BELOW THE PANEL BASE OR CUSTOM HEIGHT Model Height | Depth |Diameter’ Top?| Bott®| Available at
SULT IN A DECREASE OF ALLOWABLE SHEAR PANELS ARE AVAILABLE TO AVOID FILLERS GREATER Number (in) (in) | (i) Panel | (ea)| (ea) | Edges (ea)
VARNUE, BUILDING DESIGN PROFESSIONAL MUST THAN 1-1/2".
ANAINZE EFFECTS 3 / B. FOR MAXIMUM ALLOWABLE VALUES INSTALL PANEL HFX-12,15,18,21 & 24x8 |92-1/4 12" Width | 6 6 4
B. COUPLERS MAY BE USED WHEN THREADED ROD IS O ON CONCRETE HFX-12,15,18,21 & 24x9 |104-1/4 15" Width | 8 8
SUBJECTY,O TENSION LOADS ONLY. N e - 18" Width | 10 | 10
- 7/\\ HFX-12,15,18,21 & 24x10|116-1/4 3.1/2 118 |21"Width| 12 12 .
) O 3 : HFX-15,18,21 & 24x11 128-1/4 24" Width | 14 | 14
@_\ \\ @ / / 2 HFX-15,18,21 & 24x12  |140-1/4 3
NI / i 94 o HFX-15,18,21 & 24x13 | 152-1/4
2 ; G A ] @@ 7 (3
i < j/ U 1 (e NOTE: HARDY FRAME ° STACKING WASHERS (HFSW) ARE REQUIRED IN THE TOP OF PANELS
2 B P N7 I T S > + " —— ® "
i ] @ A T @\ o - 2 WHEN CONNECTING TO TENSION ANCHORS FROM ABOVE. HARDY FRAME® "STK PANELS
¢S - N \'® L [ ) efh e . <= /L INCLUDE HFSW WASHERS PRE-WELDED IN THE TOP CHANNEL.
-; : b A":" ,- ‘ . A' 'Ab A’/ 2 >I/ : - ) g - 4 ‘ ':AA
Tl Ll o A e D 9 TIIY /A 1. HOLD DOWN TENSION ANCHORS SPECIFIED AS STANDARD GRADE (STD) MUST COMPLY WITH ASTM
Aeg s 15 PO - RS F1554 GRADE 36 (OR EQUAL). HOLD DOWN TENSION ANCHORS SPECIFIED AS HIGH STRENGTH (HS)
2 IR 1. 4x (MIN) RIM, ALLOWABLE VALUE TABLES ASSUME Y. e g e MUST COMPLY WITH ASTM A 193 GRADE B7 (OR EQUAL). TENSION ANCHORS (BOTH GRADES) CONNECT
ENGINEERED WOOD PRODUCT. Hot . A0 A, TO THE UPPER AND LOWER PANELS WITH HARDENED ROUND WASHERS AND GRADE 8 NUTS. A HARDY
1. 4x (MIN) RIM, ALLOWABLE VALUE TABLES ASSNME | 2. NOTCH FLOOR SHEATHING THEN INSTALL HARDY FRAME ®'HFSW" STACKING WASHER IS REQUIRED IN THE TOP CHANNEL OF THE LOWER PANEL
ENGINEERED WOOD PRODUCT. FRAME"BEARING PLATE (HFXBP) AND PANEL PER (AVAILABLE PRE-WELDED IN A HARDY FRAME®"STK" PANEL). ALTERNATE WASHERS ARE (2 EA)
1. FLOOR SHEATHING NOTCHED, INSTALL PANEL ON -
2. NOTCH@FLOOR SHEATHING THEN INSTALL HARDY INSTALLATION NOTES 3-6, DETAIL B/HFX3. WOOD PLATE. ROUND-FLAT OR (2 EA) SAE WASHERS AT EACH ANCHOR CONNECTION. ALTERNATE NUTS ARE 2H
FRAME®PANEL DIRECTLY ON RIM. NUTS AND WASHERS PER TABLE NOTE 1. 2 15% FELT OR EQUIVALENT RECOMMENDED 1. ACCESS HOLE LOCATED AT EDGE OF POST. HEAVY HEX.
2 TS A SRS P AR o= ! /4" x 4-1/2" (MIN) WS SCREWS, QUANTITY PER TABLE. BETWEEN PANEL BASE AND TREATED MUDSILL 2. NUTS AND WASHERS PER TABLE NOTE 1. 2. 1/4" DIAMETER MITEK®PRO SERIES™ WS SCREWS. LENGTH IS 3" (MINIMUM) WHEN ATTACHING DIRECTLY
4. 1/4"x 4-1/2" (MINIMUM) WS SCREWS THROUGH USP MP4F CONNECTORS, QUANTITY BY BUILDING 3. PLUS OR MINUS 1-1/2" GAP TO BE FILLED WITH )
3. NUTS AND WASHERS PER TABLE NOTE 1. TO THE COLLECTOR AND 4-1/2" (MINIMUM) WHEN INSTALLING A 2x FILLER ABOVE THE PANEL.
BOTTOM OF PANEL MINIMUM QUANTITY PER TABLE. SIGN PROFESSIONAL. 5,000 PSI STRENGTH NON-SHRINK GROUT (MIN). . A t j
5. USP MP4F CONNECTORS, QUANTITY BY BUILDING 3. 1/4" DIAMETER MITEK®PRO SERIES™ WS SCREWS. LENGTH IS 4-1/2" (MINIMUM) AT CONNECTIONS TO
DESIGN PROFESSIONAL. FLOOR SYSTEMS AND BEAMS BELOW.
4. 1/4" DIAMETER SCREWS ARE REQUIRED AT THE EDGES WHEN INSTALLING A FILLER GREATER THAN
RAISED-0OS CORNER RAISE EARING PLATE RAISED STEM WALL POST ON N&W 1-1/2 INCH ABOVE OR WHEN SPECIFIED BY THE DESIGN PROFESSIONAL.
" / ll:\llcs)‘;‘l,;E:LATION 4 A INSTALLATION ON FLOOR SYSTEMS WITH HARDY FRAME® BEARING PLATE (HFXBP)
e WITHOUT HARDY \ 2 @* O / 1. WITH HOLES PRE-DRILLED FOR 1-1/8" DIA.TENSION ANCHORS, INSTALL A SOLID 4x (MINIMUM) RIM IN
O FRAME® BEARING N O \ < e FLOOR SYSTEM AT PANEL LOCATION. ALLOWABLE VALUE TABLES ASSUME THE RIM IS ENGINEERED WOOD
P /_@ PLATE (HFXBP) X /@ @\ | PRODUCT (EWP).
7 e MAY INCREASE i i 2. NOTCH FLOOR SHEATHING THEN INSTALL HFXBP ON RIM WITH 6 EACH 1/4"X4-1/2" (MIN) "WS" SCREWS AT
. ‘ ) DEFLECTION AND %270 VB ) " [ ¢ z EACH END.
2 Z RESSC LA b | ; @ / g /@ 3. PLACE PANEL ON HFXBP.
2 ¢ | ALLOWABLE 1 2 \@ @_ Z T B 4. WHEN STACKING PANELS, INSTALL "HFSW" STACKING WASHERS IN THE TOP CHANNEL OF THE LOWER
A’j 42 SHEAR VALUE Y 24 : g o X EL Wy @ PANEL. CONNECT LOWER TO UPPER PANELS WITH TENSION ANCHORS (GRADE PER PLANS) AND SECURE
s I | BUILDING DESIGN aZm = — 2 Z @ g v AT BOTH ENDS WITH HARDENED ROUND WASHERS AND GRADE 8 NUTS TO BE SNUG TIGHT. HARDY FRAME
N N AN A AN ANAN Awia. PROFESSIONAL \@ - | 7 2 "STK" PANELS THAT INCLUDE "HFSW" STACKING WASHERS PRE-WELDED IN THE TOP CHANNEL ARE
\—@ MUST ANALYZE ( 3 PX B S AVAILABLE,
\ EFFECTS. O — 3 {1 [ S 5.  WHEN MORE THAN 12 SCREWS ARE REQUIRED FOR THE BOTTOM CONNECTION OR JOINTS IN FRAMING
O \—@ O Q O S e e B TS . S MEMBERS OCCUR AT SCREW LOCATIONS, INSTALL ADDITIONAL 1/4"x4-1/2" WS SCREWS THROUGH THE
> o O R I - D BASE OF PANEL WHERE THEY ALIGN WITH HOLES IN THE HFXBP.
. ) 1. 4x (MIN) RIM, ALLOWABLE VALUE TABLE u ; T T e 6. FOR STANDARD WALL HEIGHTS, INSTALL A 2x FILLER ABOVE PANEL (DTL 5/HFX2). FOR FILLERS GREATER
1. 4x (MIN) RIM, ALLOWABLE VALUE TABLES ASSUME ENGINEERED WOOD PRODUCT. EN(GINEEREI’DAV%%VS”;:B%S’S&?E TABLES ASSUME SEREEE R THAN 1-1/2 IN. SEE DETAIL 6/HFX2.
ENGINEERED WOOD PRODUCT. 2. NOTCH FLOOR SHEATHING THEN INSTALL HARD, :
2. NOTCH FLOOR SHEATHING THEN INSTALL HARDY FRAME®PANEL DIRECTLY ON RIM. 2. NOTGH FLOOR SHEATHING THEN INSTALL HARDY 1. 4x (MIN) RIM, ALLOWABLE VALUE TABLES ASSUME  |NOTE: INSTALLATIONS MAY VARY WITH JOB SPECIFIC CONDITIONS AND/OR SPECIFICATIONS
FRAME® BEARING PLATE (HFXBP) AND PANEL PER 3. HARDY FRAME® STACKING WASHER (HFSW)YAT TOP FRAME "BEARING PLATE (HFXBP) AND PANEL PER ENGINEERED WOOD PRODUCT. BY THE BUILDING DESIGN PROFESSIONAL.
INSTALLATION NOTES 3.6. DETAIL BIHFX3 OF PANEL REQUIRED WHEN CONNECTINGAO INSTALLATION NOTES 3-6, DETAIL B/HFX3. 2. NOTCH FLOOR SHEATHING THEN INSTALL HARDY
3. HARDY FRAME® STACKING WASHER (HFSW) AT TOP TENSION ANCHOR FROM ABOVE 3. HARDWERAME® STACKING WASHER (HFSW) AT TOP FRAME® BEARING PLATE (HFXBP) AND PANEL PER ]
" OF PANEL REQUIRED WHEN CONNECTING TO 4 1-1/8" DIA. HOLD DOWN. HESW AND N&(W PER TABLE OF PANENREQUIRED WHEN CONNECTING TO INSTALLATION NOTES 3-6, DETAIL B/HFX3. 3" F—PANEL WIDTH—| 3" 3" — PANEL WIDTH—— 3" 3" ——PANEL WIDTH— 3"
TENSION ANCHOR FROM ABOVE. NOTE 1 ARE PROVIDED IN HARDY FRAME® HFTC KIT. TENSION ANCHOR FROM ABOVE. 3. USP POST CAP AND POST BASE BY THE BUILDING et el e e - YR Y
" " 4. 1-1/8" DIA. HOND DOWN, HFSW AND N&W PER TABLE DESIGN PROFESSIONAL. “ .. c e e e e
4. 1-1/8 IN. DIA HOLD DOWN, HFSW AND N&W PER TABLE |5. 1/4"x 4-1/2" (MIN) WS SCREWS, QJANTITY PER TABLE. NOTE 1 ARE PRSVIDED IN HARDY FRAME® HFTC KIT .| Loe .o Lo .o Les
NOTE 1 ARE PROVIDED IN HARDY FRAME*HFTCKIT. | 6. USP MP4F CONNECTORS, QUANTITY BY BUILDING , ) - |4 NUTS AND WASHERS PER TABLE NOTE 1. HFXBP12 HFXBP15 HFXBP18
5. 1/4"x 4-1/2" (MIN) WS SCREWS, QUANTITY PER TABLE DESIGN PROFESSIONAL. 5. 1/4"x4-1/2" (MIN) WS SCREWS, QUANTITY PER TABLE. | 5. 1/4" x 4-1/2" (MIN) WS SCREWS, QUANTITY PER
6. USP MP4F CONNECTORS, QUANTITY BY BUILDING 6. USP MP4F CONNECTQRS, QUANTITY BY BUILDING TABLE. 3" F———PANEL WIDTH— 3" 3" | PANEL WIDTH —— 3"
DESIGN PROFESSIONAL. DESIGN PROFESSION e " el = C e . . . . e
PO L] L] * L ] L L L P PR | L] L . L] . L L | oo
PYRAMID STACK  (8) STACK @ @S CORNER (7)  STRAIGHTSTACK (6)]  CRIPPLEWALL (5) rxeP Fxee ©
LOAD PATH FROM BEAM TO FOUNDATION AND CHECK LOAD PATH FR@M BEAM TO FOUNDATION AND CHECK LOAD PATH FROM BEAM TO FOUNDAYJON AND CHECK -~ S S
THAT PANEL DRIFT IS WITHIN CODE LIMIT BY BUILDING THAT PANELBRIFT IS WITHIN CODE LIMIT BY BUILDING THAT PANEL DRIFT IS WITHIN CODE LI ST s K>
DESIGN PROFESSIONAL. DESIGN PROFESSIONAL. DESIGN PROFESSIONAL. < O
. <2 1 O 5 2
AN] T © 2 1)@ D
5 O @ P £ Z
LT O~ g /Y 5 L 5) |
L “““““““‘\‘“" E ; 'I l / ; % / : ; /
| A / 7 g4 994 : ; g
6 ’_/5 ] | ya ] N B [ % [ : LN
’ g Z ‘ - W B BN N BN 2 i
7 / O =
AN B £ | A/ N - 4 )
AN 5 5 AN
° ° \HARDY FRAME®
POST (HFP)
® ® M N\ A A
3 HARDY FRAME \ HARDY FRAME"| 1, 4x (MIN) RIM, ALLOWABLE VALUE TABLES ASSUKIE 1. 4xXYMIN) RIM, ALLOWABLE VALUE TABLES ASSUME
POST (HFP) -\ POST (HFP) ENGINEERED WOOD PRODUCT ENGINEERED WOOD PRODUCT
1. DROP BEAM WITH FLOOR JOIST ABOVE PER PLAN. . WOOD BEAM PER PLAN. 1. 4x (MIN) RIM, ALLOWABKE VALUE TABLES ASSUME | 2 NOTCH FLOOR SHEATHING THEN INSTALL HARDY 2. NOTCH FDQOR SHEATHING THEN INSTALL HARDY
2. NOTCH FLOOR SHEAPHING THEN INSTALL HARDY 2. NOTCH FLOOR SHEATHING THEN INSTALL HARDY ENGINEERED WOOD PRORUCT FRAME®BEARING PLATE (HFXBP) AN PANEL PER FRAME®BEARING PLATE (HFXBP) AND PANEL PER
FRAME - BEARING PLATE (HFXBP) AND PANEL PER FRAME "BEARING PLATE (HFXBP) AND PANEL PER 2 NOTCH FLOOR SHEATHINGXXHEN INSTALL HARDY INSTALLATION NOTES 3-6, DETAJL'B/HFX3. INSTALLATION NSJES 3-6, DETAIL B/HFX3.
INSTALLATION TES 3-6, DETAIL B/HFX3. 1. STEEL BEAM PER PLANS INSTALLATION !;lOTES 3-6, DETAIL B/HFX3. FRAME®BEARING PLATE (HF ) AND PANEL PER 3. HARDY FRAME® STACKING HER (HFSW) AT TOP OF 3. HARDY FRAME® STAGKING WASHER (HFSW) AT TOP
3. HARDY FRAME’BEARING PLATE (HFXBP) OR BEARING | 2. HOLD DOWN ALL THREAD RODS THRU-BOLTED TO |3 HARDY FRAME BEARING PLATE (HFXBP) OR BEARING INSTALLATION NOTES 3-6. DETAW. B/HEX3. PANEL REQUIRED WHEN CONNECTING TO TENSION OF PANEL REQUIRED WHEN CONNECTING TO TENSION
PLATE WASHER AT UNDERSIDE OF BEAM SIZED PER BOTTOM FLANGE OF STEEL BEAM BY BUILDING PLATE WASHER AT UNDERSIDE OF BEAM SIZED PER /g ’ ANCHOR FROM ABOVE: ANCHOR FROM ABOVE.
3. 1-1/8" DIA. HOLD DOWN, HFSW ANDW&W PER TABLE
BUILDINGBESIGN PROFESSIONAL TO LIMIT DESIGN PROFESSIONAL. BUILDING DESIGN PROFESSIONAL TO LIMIT CRUSHING NOTE 1 ARE PROVIDED IN HARDY FRAME®HFTC KIT. | 4- 1-1/8" DIA. HOLD DOXYN, HFSW AND N&W PER TABLE 4. 1-1/8" DIA. HOLD DOWN, HFSWMND N&W PER TABLE
CRUSHJXNG FROM TENSION ANCHOR FORCES. 3. NUTS AND WASHERS AT PANEL BASE PER TABLE FROM TENSION ANCHOR FORCES. 4. 1/4"x 4-1/2" (MIN) WS SCREWS, QUANTIRY PER TABLE NOTE 1 ARE PROVIDED IN HARDY FRAME®HFTC KIT. NOTE 1 ARE PROVIDED IN HARDYKRAME ®HFTC KIT.
4. NUTSAND WASHERS PER TABLE NOTE 1. NOTE 1 4. 1-1/8"DIA. HOLD DOWN, HFSW AND N&W PER TABLE | .* /o' 104 cONNECTORS. QUANTITY BY BUILDING | 5 1/4" x 4-1/2" (MTN) WS SCREWS, QUANTITY PER TABLE. 5. 1/4"x 4-1/2" (MIN) WS SCREWS, QUANT(Y PER TABLE.
5. 1/4%4-1/2" (MIN) WS SCREWS, QUANTITY PER TABLE. NOTE 1 ARE PROVIDED IN HARDY FRAME HFTC KIT. " DESIGN PROFESSIONAL . 6. USP MP4~CONNECTORS, QUANTITY BY BUILDING 6. USP MP4F CONNECTORS, QUANTITY BY'BUILDING
6. USP CONNECTORS BY DESIGN PROFESSIONAL 5. 1/4"x4-1/2" (MIN) WS SCREWS, QUANTITY PER TABLE. DESIGN PROFESSIONAL. DESIGN PROFESSIONAL.

ROP BM - FL SYSTEM 14

STEEL BM THRU-BOLT (13

WOOD BM THRU-BOLT 12)

HFP POSTS BELOW

AGGERED THRU-BOLTA0

STAGGERED-HFP POST

%)
=
L
—
%)
>_
)
:Il
<2~ =
gmo (@
x®8 O
<< 0O L
Wy =
T = =<
wn > - o’
wHg o
=0owWr A
éZ&Sm
u_gl_uu'uct
>0 YL
QOnwmw__ =
=3z 8%E
TEOX

Milek

DATE:
1-1-2023

HFX3










This Page
Intentionally
Left Blank



